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I	need	some	help.	My	teacher	gave	me	a	worksheet	"Why	does	a	poor	man	drink	Coffee?"	written	by	Pizzazz.	Does	anyone	know	how	to	do	this	sheet?	I	have	a	math	worksheet	and	it	is	SO	confusing.	can	anyone	help.	the	question	on	the	worksheet	is	IN	MUSIC	WHAT	DOES	"ALLEGRO"	MEAN?	it's	page	190.	PPPPLLLLLLLLZZZZZZZZ.	like	right	now	i
need	the	answer.	i	looked	it	up	on	google	what	allegro	means	and	it	what	is	the	answer	to	the	math	pizzazz	E-30?	What	is	the	title?	why	are	bacteria	bad	at	math?	its	a	worksheet.	how	to	do	pre	algebra	pizzazz	page	e	28	Algebra	Riddle	with	PIZZAZZ	"Did	you	hear	about..."	ALGEBRA	PIZZAZZ:	IN	MUSIC,	WHAT	DOES	"ALLEGRO"	MEAN?	What	is	the
answer	to	Algebra	With	Pizzazz	190?	WHAT	IS	THE	RIDDLE	TO	ALGEBRA	WITH	PIZZAZZ	WORK	SHEET	56??	did	you	hear	about.....	p.188	PRE-ALGEBRA	WITH	PIZZAZZ	Choose	the	sentence	that	is	written	in	active	voice.	A.	The	math	problems	were	given	to	the	students.	B.	The	students	were	taking	a	math	test.	C.	The	math	test	was	given	by	the
instructor.	D.	The	math	test	grades	were	given	to	the	students.	B	Choose	the	sentence	that	is	written	in	active	voice.	a)	The	math	problems	were	given	to	the	students.	b)	The	students	were	taking	a	math	test.	c)	The	math	test	was	given	by	the	instructor.	d)	The	math	test	grades	were	given	to	the	students.	i	think	C	Why	was	the	dirty	old	hotel	called
the	fiddle	?	(There	is	only	22	letter	spots)	algebra	with	pizzazz	here	is	the	question:	Freida	must	take	a	4-hour	exam	containing	200	questions,	50	of	which	are	math.	Twice	as	much	time	should	be	allowed	for	each	math	ques	as	for	each	other	type	of	question.	What	is	the	total	#	of	minutes	she	should	allow	for	the	math	A	fertilizer	covers	5/8	square
foot	in	1/4	hour.	i	don't	understand	how	to	work	out	this	math	problem.	By	the	way	i'm	in	6th	grade	but	technically	doing	advanced	math	so	i'm	doing	7th	grade	math.	I	don't	know	how	to	do	this	How	did	the	Hunter	get	hurt	while	benind	over	to	study	some	tracks?	Algebra	with	Pizzazz!	pg	123	OBJECTIVE:	to	divide	a	polynomial	by	a	binomial	EX:
(x^2+8x+150/(x+5)	The	box	plot	below	summarize	the	distributions	of	SAT	verbal	and	math	scores	among	students	at	an	upstate	New	York	high	school.	300	400	500	600	700	800	data	Whic	of	the	following	statements	is	false?	1.	The	range	of	the	math	scores	equals	the	range	of	the	About	10%	of	the	population	of	a	large	country	is	math	phobic.	If	two
people	are	randomly	selected	what	is	the	probability	both	are	math	phobic?	And	hat	is	the	probability	that	at	least	one	is	math	phobic?	Any	way	to	do	this	on	stat	crunch?	Does	anyone	know	the	answer	to	THIS	PIZZAZ	WORKSHEET?	What	happens	when	joggers	get	mad?	what	is	the	answer	to	did	you	hear	about...	on	worksheet	page	106	There	are
ten	seniors	and	five	juniors	in	the	Math	Club	at	Jefferson	High	School.	In	how	many	ways	can	a	math	team	consisting	of	four	seniors	and	three	juniors	be	selected	from	members	of	the	Math	Club?	I	need	help	on	math	7	a	Lesson	4:	Adding	and	Subtracting	Rational	Numbers	Essential	Math	7	A	Unit	4:	Operations	with	Fractions	Quiz.	could	you	tell	me
where	I	can	get	the	"why	do	girls	like	guys	who	wear	shirts	with	eight	buttons?"	worksheet	to	print	free	online?	how	do	i	close	a	partial	worksheet	for	Walter	Searing,	for	month-end	and	post	closing	trial	balnce.	Match/Choose	the	math	sentences	that	count	up	and	back	by	tens.	47+40=88	57+30=87	46+10=56	56-10=46	87-40=47	87-30=57	Write
the	matching	math	sentences.	In	my	school,	I	have	to	pass	the	HSPA	in	order	to	graduate.	We	had	to	take	the	Language	and	Math	HSPA	in	March.	In	order	for	a	student	to	pass	the	HSPA,	you	have	to	get	a	score	of	200	or	more	on	both	parts.	I	received	exactly	a	200	on	the	Language	part	of	Hello.	My	algebra	teacher	gave	me	this	worksheet	last	week
and	everyone	had	to	bring	it	yesterday	and	I	haven't	done	it	yet.	Can	someone	please	help	me.	He	said	Friday	is	the	last	day	or	he's	going	to	take	away	some	points.	I've	been	having	trouble	with	I	need	the	answers	to	the	why	did	the	banana	go	out	with	the	prune	worksheet.	I	already	have	the	answer	to	the	riddle,	but	I	need	the	numeral	answers
please.	Calculate	the	hydronium	ion	consentration	and	the	hydroxide	concentration	in	blood	in	which	the	PH	is	7.3.	Hydronium	=	[H3O+]	=	10-pH	or	[H3O+]	=	antilog	(-	pH)	and	I	got	1.00	x	10^7.3	for	both	concentrations	is	this	correct?	ABsolutely	silly.	You	did	not	I	don't	get	page	50	of	algebra	with	pizzazz!	Please	help?	7)	Kathy	is	6	years	younger
than	bill.	12	years	ago	bill	was	twice	as	old	as	Kathy	was	then.	How	old	are	they	now?	1.Which	of	the	following	situations	best	describes	a	student	engaged	in	active	learning.	A.	A	student	uses	only	one	of	the	resources	provided	by	the	teacher***	B.	A	student	skips	parts	of	lessons	that	he	or	she	finds	difficult	C.	A	student	records	1.Which	of	the
following	situations	best	describes	a	student	engaged	in	active	learning.	A.	A	student	uses	only	one	of	the	resources	provided	by	the	teacher	B.	A	student	skips	parts	of	lessons	that	he	or	she	finds	difficult	C.	A	student	records	questions	the	second	worksheet	of	SCIENCE!	for	today	performing	an	experiment	read	the	following	statements	and	then
answer	the	questions.	1.	a	scientist	wants	to	find	out	why	sea	water	freezes	at	a	lower	temperature	than	fresh	water.	2.	the	scientist	goes	to	the	He	is	a	math	teacher.	He	is	a	Math	teacher.	Do	I	have	to	capitalize	Math	or	not?	are	both	OK?	Transformation	Composition	Worksheet	Name____________________	Directions:	Use	graph	paper	to	perform	the
following	transformations.	Fill	in	the	chart	with	the	the	coordinates	of	the	image.	Attach	your	graph	paper	to	the	worksheet!	1.	Pre-image:	A(0,0),	princess	leia	is	a	very	good	math	student.	Her	average	math	grade	was	a	95	on	her	15	tests.	If	Darth	Mangham	decides	to	drop	her	lowest	grade,	write	an	expression	to	determine	her	new	test	average.
what	is	the	purpose	of	a	scatter	plot?	A.to	create	a	design	like	graph	paper.	B.to	help	visualize	the	relationship	between	two	types	of	data	C.to	sytematically	compare	three	datasets	D.to	add	and	subtract	data	in	a	worksheet	b	or	d	A	0.285	M	solution	of	the	sodium	salt,	NaA,	of	the	weak	monoprotic	acid,	HA,	has	a	pH	of	9.65.	Calculate	Ka	for	the	acid
HA.	I	think	I	am	having	issues	with	the	equation	and	then	the	math	part.	I	figured	out	what	'x'	was	from	the	pH,	which	I	believe	is	Gerald	can	complete	a	math	assignment	in	2	hours	and	a	physics	assignment	in	1	hour.	If	he	has	8	hours	to	complete	a	set	of	assignments,	how	many	math	assignments	can	he	complete	if	he	decides	to	leave	the	science
assignments	for	the	next	day?	This	I	am	going	to	take	an	Accuplacer	math	placement	test	later	this	week.	It	is	to	determine	what	math	course	I	need	to	take	in	college.	The	school	would	like	me	to	place	in	statistics.This	will	be	my	second	time	taking	the	test.	The	first	time	I	placed	in	At	a	college	bookstore,	Carla	purchased	a	math	textbook	and	a	novel
thjat	cost	a	total	of	$54,	not	including	tax.	If	the	price	if	the	math	textbook,	m,	is	$8	more	than	3	times	the	price	of	the	novel,	n,	write	a	system	of	linear	equations	that	could	be	used	A	1.00L	sample	of	a	gas	has	a	mass	of	1.92g	at	STP.	What	is	the	molar	mass	of	the	gas?	(This	is	a	question	on	my	chemistry	worksheet,	and	I	can't	find	the	answer	in	my
book.)	Please	help	me	with	this	problem:	Jhon	missed	5	points	out	of	100	points	on	his	math	test.	What	decimal	number	represents	the	part	of	his	math	test	he	answered	correctly?	my	answer	is	0.95.	my	work:	100-5=095	Use	the	sentence	to	answer	the	question.	Her	red	pen	in	hand,	the	math	teacher	very	meticulously	graded	the	tests.	What	is	the
adverb	intensifier	in	the	sentence?	math	meticulously	red:::::	very	When	the	equation	below	is	balanced	and	all	coefficients	are	in	the	lowest,	whole	number	ratio,	the	coefficients	are:	C2H6	+	O2	�¨	CO2	+	H2O	I	am	currently	doing	an	online	worksheet	to	improve	in	chemistry	and	I	am	not	quite	understanding	how	to	find	the	Dillon	studied	3	6/7
hours	for	his	English	test.	He	studied	5	3/14	hours	for	his	math	test.	How	much	longer	did	he	study	for	his	math	test?	(Simplify	the	answer	and	write	it	as	a	mixed	number.)	I'm	having	a	little	trouble	doing	a	worksheet.	1.25	moles	of	KBr	contains	how	many	Br	atoms?	How	do	I	find	the	number	of	atoms	for	one	of	them?	Also,	I'm	not	sure	how	to	solve:
Calculate	the	number	of	atoms	in	CO2.	Thanks.	last	worksheet	for	SCIENCE!	for	today	analyzing	elements	of	a	scientific	method	read	the	following	statements	and	then	answer	the	questions.	1.	you	and	your	friend	are	walking	along	a	each	in	maine	on	january	15,	at	8:00	am.	2.	you	notice	a	thermometer	on	1.	Which	best	describes	your	ability	to	work
with	exponents?	2.	Which	best	describes	your	participation	in	discussions	about	math	problems	or	topics?	3.	Which	of	these	skills	do	you	think	you	could	teach	someone	else?	Select	all	that	apply.	4.	Which	of	Jeremy	surveyed	students	at	his	school	for	his	math	project.	When	he	analyzed	the	results,	38	students,	or	18%	of	those	surveyed,	selected
hamburgers	as	their	favorite	food.	How	many	poeple	did	Jeremy	survey	for	his	math	project?	(Round	your	answer	to	the	Jerrod	received	a	total	score	of	1340	on	the	SAT.	His	math	score	was	400	points	less	than	twice	his	verbal	score.	What	was	his	math	score	and	his	verbal	score?	Your	mathematics	instructor	claims	that,	over	the	years,	88%	of	his
students	have	said	that	math	is	their	favorite	subject.	In	this	year's	class,	however,	only	21	out	of	32	students	named	math	as	their	favorite	class.	The	teacher	decides	to	conduct	a	test	In	a	class	of	100	students,	40	failed	in	Math,	30	failed	in	Physics,	60	failed	in	Chemistry.	35	passed	in	both	Math	and	Physics.	20	passed	in	Physics	and	Chemistry.	25
passed	in	Math	and	Chemistry.	Each	student	passed	in	at	least	one	subject.	How	many	of	250	candidates	writing	a	exam,	147	passed	in	math,150	pass	in	chemistry	and	85	pass	subjects	B)calculate	the	number	of	students	who	pass	i)pass	math	only	ii)pass	chemistry	only	iii)passed	neither	iv)pass	only	one	subject	In	a	class	of	156	students	who	took
maths	and	physics	they	all	passed	at	leat	1	subject	75	pass	math	and	physics.if	twice	has	passed	physics	find	how	many	students	pass	math	only.	Represent	in	Venn	diagram.	Your	mathematics	instructor	claims	that,	over	the	years,	88%	of	his	students	have	said	that	math	is	their	favorite	subject.	In	this	year's	class,	however,	only	21	out	of	32	students
named	math	as	their	favorite	class.	The	instructor	decides	to	construct	a	Find	the	number	of	subsets	of	the	given	set.	{math,	English,	history,	science,	art}	Is	this	correct:	1.	{}	2.	{math}	3.	{English}	4.	{history}	5.	{science}	6.	{art}	7.	{m,	E}	8.	{m,h}	9.	{m,	s}	10.	{m,	a}	11.	{e,	h}	12.	{e,	s}	13.	{e,	a}	14.	{h,	s)	15.	{h,	Find	the	number	of	subsets
of	the	given	set.	{math,	English,	history,	science,	art}	Is	this	correct:	1.	{}	2.	{math}	3.	{English}	4.	{history}	5.	{science}	6.	{art}	7.	{m,	E}	8.	{m,h}	9.	{m,	s}	10.	{m,	a}	11.	{e,	h}	12.	{e,	s}	13.	{e,	a}	14.	{h,	s)	15.	{h,	A	travel	agent	arranged	a	payment	plan	for	a	client.	It	required	a	down	payment	of	$150.00	and	12	monthly	payments	of	$642.00.
What	was	the	total	cost	of	the	plan?	2.	translate	into	math	expression	and	solve.	Some	number	divided	by	negative	four	is	four.	When	selecting	courses	for	university,	Mimi	must	take	2	math	courses,	4	arts	courses,	3	sciences	courses,	and	1	elective.	There	are	7	math	courses	to	choose	from,	10	arts	courses,	6	sciences	courses,	and	5	electives.	How
many	different	course	selections	If	15	grams	of	copper	(11)	chloride	react	with	20	grams	of	sodium	nitrate,	how	much	sodium	chloride	can	be	formed?	Hint:	you	will	need	two	stochiometry	problems	to	determine	which	reactants	limit	the	amount	of	NaCl	produced?	How	do	you	figure	out	the	2	Complete	the	following	2	exercises	1.	Prepare	a	bank
deposit	detail	for	a	$2230.00	deposit.	Use	the	information	in	questions	A-D.	Record	your	answers	to	the	deposit	slip	provided.	NOTE:	The	bank	deposit	slip	is	setup	for	you	to	manually	type	the	necessary	Oregon	is	about	400	miles	from	west	to	east,	and	300	miles	from	north	to	south.	If	a	map	of	Oregon	is	15	inches	tall	(from	north	to	south),	about	how
wide	is	the	map?	PLEASE	HELP	AND	EXPLAIN	IT	Set	up	a	proportion:	15/300	(the	ratio	of	inches	to	miles,	A	brick	wall	measuring	3	ft	by	11	ft	is	to	be	built.	The	brick	measures	4in	by	6	in.	How	many	bricks	will	it	take	to	complete	the	walkway?	math	-	Ms.	Sue,	Monday,	June	24,	2013	at	2:39pm	Are	we	building	a	wall	or	a	walkway?	math	-	iris,
Monday,	June	24,	How	big	is	a	ton?	That	is,	what	is	the	volume	of	something	that	weighs	a	ton?	To	be	specific,	estimate	the	diameter	of	a	1-ton	rock,	but	first	make	a	wild	guess:	will	it	be	1ft	across,	3ft,	or	the	size	of	a	car?	[Hint:	Rock	has	mass	per	volume	about	3	1.)Marla	remembers	her	tuesday	class	schedule	by	using	the	acronym	Mest	.	Which	of
the	following	might	be	her	class	schedule?	A.)Math,Social	Studies,	English,Technology	B.)Math,English,	Social	Studies,Science,	Technology	C.)Math,English,Social	Lesson	13:	Using	Graphs	to	Analyze	Data	Unit	Test	Math	8	B	Unit	3:	Using	Graphs	to	Analyze	Data	I	need	answers	and	i	need	them	now!!	but	please	put	the	right	answers	cause	i	suck	at
this	math.	Which	of	the	following	teachers	is	using	the	computer	most	effectively?	A.	"I	use	the	computer	to	manipulate	figures	and	place	the	actual	hands-on	manipulatives	nearby."	B.	"I	use	the	computer	so	that	children	can	manipulate	geometric	figures."	C.	"I	Quadrilateral	Math	has	been	dissected	into	squares.	The	area	of	the	red	square	is	64
square	units	and	the	area	of	the	blue	square	is	81	square	units.	Determine	the	dimensions	and	the	area	of	Quadrilateral	Math?	2.Brianna	eats	chocoloate	whenever	she	gets	poor	grade	in	math.	whenever	she	gets	a	poor	grade	in	math	is	underlined.	I	believe	this	is	a	dependent	clause.	3.	After	the	house	flooded,	the	family	moved	into	a	temporary
shelter.	After	the	house	is	flooded	is	In	the	REDOX	reaction	in	basic	solution	Zn-->Zn(OH)4+H2	I	know	that	the	first	half	reaction	is	4H20+Zn-->Zn(OH)4	+4H+e	but	the	second	one	is	either	2e+2H2O--->H2+2OH	(WHICH	IS	THE	ANSWER	GIVEN	ON	THE	WORKSHEET)	OR	2e+2H-->H2	I	think	both	leads	to	the	same	on	the	first	math	exam,	16
students	received	an	A	grade.	On	the	second	math	exam,	12	students	received	an	A	grade.	What	percentage	decrease	is	that?	1.	Which	of	the	following	would	be	considered	a	career	in	science?	(1	point)	architect	drafter	geneticist*****	statistician	2.	To	pursue	a	career	in	math,	science,	or	engineering,	which	of	the	following	subjects	should	you	study?
Select	all	that	apply.	(3	Calculate	the	z-score	for	each	set	of	data.	Determine	who	did	better	on	her	respective	test,	Tonya	or	Lisa.	Student	English	Test	Grade	z-Score	Student	Math	Test	Grade	z-Score	John	82	Jim	81	Julie	88	Jordan	85	Samuel	90	Saye	79	Tonya	86	Lisa	82	Mean	86.50	1.	you	and	a	friend	balls	for	like	a	salad	and	a	small	drink.	between
the	two	of	you,	you	have	$8.00.	A	salad	costs	$2.49	and	a	small	drink	is	$0.99.	Can	either	of	you	have	a	second	salad	or	a	drink?	assume	there	is	no	sales	tax.	A.yes,one	Salad	B.yes,one	19.	Mr.	Green	teaches	band,	choir,	and	math.	This	year,	he	has	57	students	that	take	at	least	one	of	his	classes.	He	teaches	band	to	25	students.	There	are	48	students
who	take	either	band	or	choir	or	both.	There	are	9	students	who	take	both	math	and	choir	Why	can't	the	slope	of	a	line	be	expressed	as	a	decimal	or	a	fraction?	The	slope	of	a	line	should	be	expressed	as	a	fraction.	The	formula	is	Rise	over	Run.	Rise	is	how	much	further	up	u	go	and	run	is	how	much	further	across	do	u	go.	Does	that	answer	your
Marta’s	math	textbook	weighs	mc017-1.jpg	of	a	pound	less	than	4	times	the	weight	of	the	book	she	is	reading	for	her	language	arts	class.	If	the	weight	of	the	math	textbook	is	mc017-2.jpg	pounds,	which	shows	the	correct	equation	and	value	of	x,	the	weight	Lee	Holmes	deposited	$16,600	in	a	new	savings	account	at	9%	interest	compounded
semiannually.	At	the	beginning	of	year	4,	Lee	deposits	an	additional	$41,600	at	9%	interest	compounded	semiannually.	At	the	end	of	year	6,	what	is	the	balance	in	Lee’s	Peanuts,	walnuts,	and	cashews	are	mixed	by	volume	in	the	ratio	5:3:2,	to	make	a	party	snack.	The	number	of	cups	of	walnuts	needed	to	make	12	cups	of	party	mix	are	between:	a)	1
and	2	b)	2	and	3	c)	3	and	4	d)	4	and	5	Math	-	Ms.	Sue,	Monday,	February	20,	The	High	School	Step	Team	Karla’s	cousin	Jade	urged	her	to	join	the	step	team.	“This	afternoon	you	should	definitely	try	out!”	Jade	suggested	after	the	final	bell	rang.	“I	know	she	wants	the	best	for	me,”	Karla	thought	to	herself,	“but	I’m	Worksheet	(Use	the	information	from
the	trial	balance	in	Exam	Figure	2.	Write	the	worksheet	information	on	the	form	in	Exam	Figure	1.)	You’ll	need	the	following	adjustment	information:	a.	P.	Woodsley	counted	the	supplies	on	May	31	and	found	that	the	Is	this	a	buffer	system?	NH3/(NH4)2SO4?	It	is	formed	by	mixing	NH3	(weak	base)	and	a	strong	acid	(H2SO4),	but	according	to	my
worksheet	it	is	not	a	buffer	system.	Why	is	this	so?	Isnt	it	a	buffer	as	long	as	it	consists	of	a	weak	base	and	its	salt	of	a	CHECK	THESE	MATH	ANSWERS	PLEASE	1.	There	are	18	boys	and	12	girls	in	a	math	class.what	is	the	ratio	of	girls	to	total	students?	A.18:30	B.12:30(I	PICK	THIS)	C.30:12	D.30:18	2.which	of	the	following	ratios	are	equivalent	to
6:9?	Choose	all	that	apply.	A.3:2	3(x+5)=3x(x+15)	what	math	property	is	this	What	does	method	mean	in	math?	Lesson	8:	Mean,	Median,	Mode,	and	Range	Math	7	A	Unit	2:	Decimals	and	Integers	1:	FIND	THE	MEAN	OF	THE	DATA	SET	9,4,7,3,10,9	A:	6	B:	7	C:	8	D:	9	2:	FIND	THE	MEDIAN	OF	THE	DATA	SET:	9,6,7,3,10,9	A:	6	B:	7	C:	8	D:	9	3:	FIND
THE	MODE	OF	THE	DATA	SET:	The	ratio	Tim	spends	on	math	homework	to	science	homework	is	5	to	4.	If	he	spends	40	minutes	on	math	homework,	how	many	minutes	does	he	spend	on	science	homework?	A.	20	Minutes	B.	32	Minutes	C.	60	Minutes	D.	90	Minutes	I	think	it's	either	A	or	B,	but	I	Choose	an	appropriate	metric	unit	for	the	mass	of	a
paper	clip.	A.	meter	B.	gram	C.	kilogram***	D	centimeter	Which	is	likely	to	have	a	mass	close	to	700	grams?	A.	a	5-year-old	child	B.	an	orange	C.	an	8oz	glass	of	water	D.	an	adult	lion	Which	measure	is	need	help	with	math	assessment	lesson	7	the	quotient	of	65	and	y	translated	into	math	What	is	the	width	of	a	math	book	Solve	using	metal	math.	a)
4y+3=19	b)	2+3m=17	Why	are	bacteria	bad	at	math	Lesson	7:	Solving	Equations	with	Two	Steps	Math	6	B	Unit	5:	Graphing,	Equations,	and	Inequalities	the	practice	1.b	2.c	3.b	4.b	5.c	Lesson	7:	Solving	Equations	with	Two	Steps	Math	6	B	Unit	5:	Graphing,	Equations,	and	Inequalities	quick	check	1.b	2.a	3.d	4.b	I	need	help	with	this	math	question
What	is	the	solution	to	-	55	+	q	=	7?	A	-	q	=	-	62	B	-	q	=	-	42	C	-	q	=42	D	-	q	=	62	My	answer	is	A	Can	you	help	me?	My	math	problem	is:	23	4/7	divided	by	4	and	it	says	to	estimate.	What	do	I	do?	What	is	the	product	of	3	2/3	and	14	2/5?	A.	54	B.	52	4/5	C.	42	4/5	D.	52	4/15	I	did	the	math	and	got	42	4/15	what	did	i	do	wrong?	If	i	had	to	guess	id	say	its	c
or	d	):	explain	how	to	find	40	x	50	using	mental	math	Use	mental	math	to	determine	the	solution	x/3=24.	a.	x=6	b.	x=8	c.	x=27	d.	x=72	b	is	it?	Page	2	Math	7	A	Unit	2:	Decimals	and	Integers	help	me	pl	how	do	you	write	the	math	expression	for	the	product	of	82	and	g	Math:	what	is	the	smallest	number	divisible	by	17	and	8	which	math	fraction	is
greater	through	approximation:	10/21	or	15/28?	Which	of	the	following	sentences	is	punctuated	correctly?	Group	of	answer	choices	Jimmy	does	his	math	homework	as	Lenny	starts	stretching	on	the	gymnastic	mats,	and	Larry	hides	behind	the	bleachers	eating	peanut	butter	and	jelly	sandwiches.	Jimmy	does	his	How	many	letters	in	the	word	MATH
have	more	than	one	line	of	symmetry?	I	can	learn	new	things	but	I	cannot	change	how	good	I	am	at	math	what	are	3	challenging	math	equations	that	equal	100?	n^3+2n	is	the	multiple	of	3	prove	it	by	math	induction	method	can	someone	unscramble	these	math	words	reaoprddrie	enitmelgens	A)	Estimate	49%	of	162	B)	Use	mental	math	to	calculate
49%	of	62	Solve	the	equation	using	mental	math.	y+1/4=6	11/12	what	am	I	supposed	to	do?!?	How	can	you	find	40%	of	150	using	mental	math?	Explain	using	mental	math	and	distributive	property	solve:	25(12)	16t^2	–	1/64	Explain	in	your	own	words	what	the	meaning	of	domain	is.	Also,	explain	why	a	denominator	cannot	be	zero.	Find	the	domain
for	each	of	your	two	rational	expressions.	Write	the	domain	of	each	rational	expression	in	set	notation	(as	demonstrated	Hii	so,	I'm	on	my	5th	mental	breakdown	Today	and	Its	only	9:00	today,	and	as	I	know	most	of	you	don't	care	what	so	ever	about	what	I'm	going	through	and	you	all	have	your	own	problems	but	I'm	honestly	horrible	at	math	and	this
is	a	big	grade	for	me	in	it	Math:Write	3/4	and	5/8	as	a	pair	of	fractions	with	common	denominator	can	you	help	me	with	penn	foster	general	math	1	please	exam	#00701300	use	propertise	and	mental	math	to	find	the	value.	19+(28+21)	3	times	270	(86+27)+3	PLEASE	LIST	ALL	7TH	GRADE	MATH	SYMBOLS!!!	PLEASE!!!	I	NEED	THIS	ASAP	!!!	:)
THANK	YOU!!!!	in	the	expression	-7x	-	5x^2	+	5,	what	is	the	coefficient	of	x?	A.)	7	B.)	5	C.)	-7	D.)	-5	Can	anybody	help	me	with	the	math?	It's	not	my	best	subject...	(or	if	you'd	just	give	me	the	answer	that	would	be	fine	too,	XD.)	what	is	the	answer	to	big	ideas	math	page	167	question	9?	-5g	-	6	for	g=-2	4	16	10	-13	this	is	for	writing	&evsluating
algebraic	expressions	quiz.	math	7	A	unit	5	use	mental	math	to	find	each	value	5%	rebate	on	a	$150	cell	phones	math	what	is	the	answer	to	this	732,178+167-542,137	I	need	help	for	Using	Probability	Unit	Test	part	1	its	20	questions	I'm	stuck	on	#1-20	I	want	to	get	at	least	a	B	in	math	for	TNCA	#1:	I	think	is	A	am	I	right	Accoring	to	math	teachers,
what	did	the	acorn	say	when	it	grew	up?	there	is	ten	questions	and	15	boxes	Students	can	improve	their	math	performance	by	putting	forth	additional	effort	when	necessary.	Is	this	true?	1.)what	is	the	purpose	of	a	scatter	plot?	A.)To	create	a	design	like	graph	paper	B.)To	help	visualize	the	relationship	between	two	types	of	data	C.)To	sytematically
compare	three	datasets	D.)To	add	and	subtract	data	in	a	worksheet	2.)What	is	Microsoft	which	word	best	describes	how	you	feel	when	working	on	a	math	activity	or	problem	solving	assignment	1.	Which	Polynomial	does	the	model	represent?	A.	-x3+2x3-3x+2	B.x2+x-2	C.-x2+x+2	D.-x2+x-2	This	it’s	for	the	unit	test	for	math	some	tests	are	different!
Someone	pls	help	me	Does	anyone	have	the	answers	for	the	Penn	Foster	Math	for	Business	and	Finance	proctored	exam?	060497	the	test	score	for	a	math	class	are	shown	below.	81,84,82,93,81,85,95,89,86,94	what	are	the	mean,	median,	and	mode	of	the	data	set?	Show	how	to	use	the	distributive	property	to	multiply	the	two	numbers	with	mental
math.	8	x	16	I	just	need	you	guys	to	explain	it	to	me	with	8	x	16	Which	word	best	describes	how	u	feel	when	working	on	a	math	activity	or	problem	solving	assignment	Which	word	best	describes	how	you	feel	when	working	on	a	math	Activity	or	problem	solving	assignment	Choose	an	appropriate	metric	unit	for	the	mass	of	concrete	in	a	section	of	the
sidewalk	Please	help	math	double	test	Which	of	the	following	could	be	a	coterminal	angle	for	-5pi/4?	19pi/4	7pi/4	-17pi/4	-25pi/4	I've	done	my	math	twice,	but	I	can't	seem	to	get	the	right	answer:(	pls	help?	Which	picture	is	congruent	to	the	figure	shown	below?	i	am	basically	struggling	in	5th	grade	math	help!	it	is	on	time4learning.	I'm	TOTALLY	stuck
on	my	math!!!	How	do	I	find	the	unit	rate	of	$11.49	for	3	packages??	I	have	to	round	to	the	nearest	hundredth	if	necessary....	:)	whats	th	eanswer	to	the	math	page.	why	do	elephants	have	ivory	tusks?	and	the	answer	to	what	can	you	use	to	tie	up	a	spaceship?	Express	the	fractions	1/2,	3/16,	and	7/8	with	an	LCD.	A.	1/4,	3/4,	7/4	B.	1/32,	3/32,	7/32	C.
4/8,	6/8,	14/8	D.	8/16,	3/16,	14/16	I	think	its	b,	but	im	really	bad	at	math.	can	someone	please	help	me	out?	I	have	to	finish	this	by	12:15	so	I	can	be	on	time	Estimate	the	sum	or	difference.	Use	the	benchmarks	0,	1/2,	and	1.	4/5	+	3/20	0	1/2	1	Tim	walked	2/5	of	a	mile	on	Monday,	6/7	of	a	mile	on	Tuesday,	and	2/3	of	a	mile	on	Wednesday.	How	far	did
he	walk	in	all?	About	1	mile	About	1	1/2	miles	About	2	miles	Find	the	mode	of	the	set	of	data	59,61,54,51,38	46,56,52,63,40,44	1.B	2.D	3.C	4.A	5.D	6.C	7.B	8.C	9.C	10.C	11.B	12.D	13.B	14.A	15.A	16.A	17.D	18.A	19.C	20.D	Math	lesson:10	Unit:2	Practice	test	100%	answers	I	need	help	to	classify	the	solid	figure.	Lesson	9:	Three-Dimensional	Figures	CE
2015	Math	7	B	Unit	2:	Measurement	Assessment	List	three	different	ways	to	write	5^11	as	the	product	of	two	powers.	Explain	why	all	three	of	your	expresses	are	equal	to	5^11.	Please	help	me	I	don't	know	how	to	do	this	kind	of	math.	okay	so	i	was	given	a	worksheet	with	15	word	problems.	i	couldn't	solve	2	so	if	you	could	help	me	out	it	would	be
good..	If	you	ask	Catwoman	how	many	cats	she	has,	she	answers	with	the	riddle,	'five-sixths	of	my	cats	plus	seven.'	how	many	cats	does	she	If	it	takes	1/4	an	hour	to	type	one	page,	how	many	pages	can	be	typed	in	3	1/2	hours?	The	answer	is	14,	right?	But	what	is	the	written	math	equation	to	solve	this?	find	the	values	of	angles	X,	Y,	and	Z.	x=91;	y=
51;z=31	x=89;	y=91;	z=0	x=60;	y=120;	z=31	please	HELP!!!	math	7	B	unit	1	geometry	test!!!!	anyone	from	Connections	Academy	7th	grade	please	help	me	You	guys	does	any	one	hav	the	answers	for	Lesson	4:	Graphs	and	Proportional	Relationships	CE	2015	Math	7	B	Unit	4:	Graphing	in	the	Coordinate	Plane	please	The	test	scores	for	a	math	class
are	shown	below.	81,84,82,93,81,85,95,89,86,94	What	is	the	standard	deviation	of	the	data	set?	Roun	your	answer	to	the	nearest	tenth	4.9	5.5	5.3	5.1	The	list	shows	the	final	exam	grades	for	Ms.	Gold's	math	class.	Make	a	stem	-	and	-	leaf	plot	for	the	data.	66,	98,	92,	91,	69,	55,	53,	90,	67,	74,	57,	58,	60,	59,	86,	92,	63,	55,	51,	84	A)	5|1	3	5	5	7	8	6|0	3
6	7	9	9	7|4	8|4	6	9|0	1	2	2	8	Mole	Calculation	Worksheet	1)	How	many	moles	are	in	15	grams	of	lithium?	2)	How	many	grams	are	in	2.4	moles	of	sulfur?	3)	How	many	moles	are	in	22	grams	of	argon?	4)	How	many	grams	are	in	88.1	moles	of	magnesium?	5)	How	many	moles	are	in	2.3	grams	of	What	do	graphic	organizers	and	learning	games	have	in
common?	A.	They	are	both	online.	B.	They	are	both	ways	to	simulate	how	to	do	a	particular	task.	C.	They	both	try	to	present	information	in	an	innovative	way.***	D.	They	both	are	used	only	for	math	and	write	an	algebraic	expression	"five	plus	the	quotient	of	r	and	14"	5+14r	5+14/r	5+r/14	5-r/14	do	the	same	things	for	theses	to	"Four	less	than	the
prouduct	of	three	and	x	is	twenty-three	3x-4=23	4-3x=23	4x-3=23	3-4x=23	solve	useing	menmtal	math	4y+3=19	4	5	The	aera	of	rectangle	MATH	is	30	sq	cm	and	each	side-length	is	a	counting	number	of	cm.	H	is	the	midpoint	of	TO.	The	area	of	square	ECHO	is	between	5	sq	cm	and	24	sq	cm.	Find	the	perimeter	of	the	entire	fiure	in	cm.	i	was	given	a
math	brain	teaser	can	you	help	me	with	it.here	it	goes.	NOMMAG	TAILR	RIALT	AIRTL	TLRIA	a	circle	with	the	word	DOM	in	it	KNEE	UR	FULL	OF	CHOICE	X	3	abcdefghijkmnopqrstuvwxyz	thats	all	of	them	help	me	please	Pllllleeeaaasssssssseeeee	help	me	with	this	math	fast!	a.	Find	x.	The	figure	is	not	drawn	to	scale.	b.	Is	the	triangle	equilateral,
isosceles,	or	scalene?	Explain.	Image	at	imgur	.	com	/	6y2f9a3	find	the	sum	or	difference.	all	answer	should	be	in	simplest	form	1	3/7	+	10	6/7	A.	20	1/7	B.	11	2/7	C.	11	4/19	D.	12	2/7	PLZ	HELP!	if	I	don't	pass	I	will	get	grounded	for	3	moths	cuz	I	have	a	D-	in	math	and	I	need	my	grade	to	raise	Graph	the	function	Identify	the	vertex	and	axis	of
symmetry	f(x)=2x^2	+	4x	+1	please	explain	steps	I	need	to	do.	I	keep	looking	at	notes	and	just	can't	grasp	any	of	it.	Failing	math	not	sure	how	to	start	again.	I	think	I	missed	something	major.	1.	(08.03)	Magdeline	wants	to	know	if	the	number	of	words	on	a	page	in	her	computer	science	book	is	generally	more	than	the	number	of	words	on	a	page	in
her	math	book.	She	takes	a	random	sample	of	25	pages	in	each	book	and	then	calculates	the	mean,	median,	Your	math	test	scores	are	68	78	90	and	91	what	is	the	lowest	score	you	can	iron	on	the	next	test	and	still	achieve	an	average	of	at	least	85	Translate	the	following	sentence	into	math	symbols.	Then	solve	the	problem.	y	more	than	4	is	-36	My
answer:	4	+	y	=	=36	y	=	-40?	Did	I	answer	both	of	the	questions	right?	If	you're	given	a	90	degree	angle	split	down	the	middle,	and	one	of	the	angles	is	30	degrees,	what	would	the	other	angle	be?	sorry	im	not	too	good	at	math	A	math	quiz	is	made	up	of	5	multiple	choice	questions,	each	with	4	possible	answers.	How	many	possible	sets	of	answers	are
there?	The	scores	on	a	math	test	are	normally	distributed.	if	the	mean	is	72	and	the	standard	deviation	is	six,	what	is	the	range	of	98%	of	the	scores?	Write	a	math	problem	comparing	two	test	scores:	a	score	of	97	and	a	score	of	88.	Math	unit	test.	(1)	write	the	fraction	1/8	as	a	percent.	round	to	the	nearest	hundredth	of	a	percent	where	necessary.
12.50%	37.50%****	62.50%	80.00%	suppose	3	students	change	their	vote	from	math	to	science	.describe	how	the	frequency	table	would	change	What	is	the	20th	term	of	the	sequence	-3,	6,	-12,	24	The	answer	is	1,572,864	i	just	need	to	know	the	math	in	order	to	obtain	the	answer.	Prove	that	for	all	positive	integers	“a”	and	“b”,	GCD(a,b)	=	LCM(a,b)
iff	a	=	b.	Can	someone	explain	me	how	to	prove	this?	I'm	confused.	This	is	for	Discrete	Math.	write	a	word	problem	for	1/3	x	1/4	use	the	definition	of	multiplication	and	math	drawing	to	help	determine	the	answer.	explain	you	answer.	Does	anyone	know	the	answer	to	the	math	riddle	"Did	you	hear	about..."	the	answer	is	12	words	and	it's	pg	167.	My
math	calculator	prompted	me	with	this	question	6E-7.	My	answer	to	this	question	is	0.00000007	I	Need	The	answers	to	the	Grade	7	Semester	A	Test	-	Part	1	math	test	My	math	homework	question	stated	:	Jaske	completed	a	marathon	race	in	3	hours	and	12	minutes.	Write	Jakes	running	time	as	a	decimal.	Am	I	correct.	Thanks	Answer	3.12	A	computer
uses	1/200	of	a	SECOND	to	finish	a	math	question.	How	many	questions	can	the	computer	answer	in	2	MINUTES?	sry	for	caps,	lol	lesson	10:	solving	inequalities	by	adding	and	subtracting	Math	7	A	Unit	5:	Equations	and	Inequalities,	1.	What	is	-m	7	(less	than	sign)	6	either	A:	m	Less	than	-13	B:	m	Less	than	1	C:	m	Less	than	-1	D:	m	less	than	13	I
think	its	C	but	i	wanna	make	sure	students	can	improve	their	math	performance	by	putting	forth	additional	effect	when	necessary.	True	or	false	I	think	it's	True	correct	me	if	I'm	wrong	The	teacher's	pet	team	has	50	points	in	math	fever.	They	miss	a	question	worth	200	points.	What	is	the	new	score?	Twice	the	smallest	of	three	consecutive	odd
integers	is	eleven	more	than	the	largest.	Find	the	integers.	Please	help	I	don't	understand	these	type	of	math	question	Find	2	solutions	to	the	equation	3x+5y=10.	Write	the	solutions	as	ordered	pairs.	This	is	on	my	math	study	guide	for	our	final	and	she	already	took	up	our	text	books.	please	help	me!	Mno~pqr	for	each	of	the	following	angles	name	the
angle	that	is	cronguet.please	give	me	the	unit	test	answers	for	lesson	13	math	7	unit	8-geometry	Code	RED!	We	got	a	math	portfolio	from	Data	and	Graphs	Review.	I	need	help,	maybe	a	portfolio	that	I	could	switch	up	to	make	it	look	like	my	own?	And	a	messed	up	and	fixed	graph,	THANKS!	In	a	class	of	40	students,	27	like	math	and	25	like	Filipino.	At
most	how	many	students	do	not	like	at	least	one	of	these	subjects?	Is	it	necessary	for	us	to	find	new	solutions	to	problems?	Many	people	may	argue	that	we	don¡¯t	need	to	since	we	are	already	able	to	solve	the	problems.	As	far	as	I	am	concerned,	we	should	always	try	to	find	new	solutions	to	problems.	New	solutions	enable	i	am	working	on	a	practice
worksheet	and	need	help	with	a	few	i	can	not	understand.	please	and	thank	you.	I	have	to	post	them	separately	sorry	49.how	many	grams	of	water	are	needed	to	completely	hydrolyze	30.8	g	of	the	ester?	A.0.416	g	B.30.8	g	C.11.3	g	Hello,	I	just	caught	my	daughter	using	this	cite	to	help	her	on	a	math	Quick	check.	I	need	to	know	if	this	cite	is	for
cheating.	I	do	not	want	my	kid	to	cheat	on	her	Unit	Test	coming	up.	Thank	you	for	some	of	your	time.	SOMEONE	PLEASE	ANSWER	QUICK!	Decimal	and	integer	operations	review	practice	LESSON	10	decimals	and	integers	unit	review	math	7	A	ORCA	20	questions	I	am	having	in	my	fifth	grade	math	class.	We	are	learning	Number	and	Operations
Base	Ten.	How	can	I	solve	this	question?	I	have	13	hundreds,	1	tens,	7	ones,	5	tenths,	and	19	hundredths.	What	number	am	I?	Explain	how	mental	math	can	be	used	to	estimate	a	15%	tip	on	a	taxi	ride	that	costs	$23.25.	PLZ	HELP!	BE	VERY	Descriptive	on	how	you	did	this!	I'm	Sick	Today	So	I've	Barely	Have	Brains	To	Do	This	Today,	So	HELP!!!	This
math	is	killing	me!	How	do	I	find	the	area	of	a	flower	bed	in	square	feet	if	it	is	triangular	in	shape	and	the	base	is	3	yards	and	the	height	is	2	yards?	Please	help,	I	am	feeling	overwhelmed.	Select	the	noun	clause	to	complete	the	sentence.	They	would	study	(choose)	during	lunch.	Choices	How	the	electoral	college	works	And	chat	about	the	news	The
history	of	aluminum	foil	For	tomorrow's	math	exam	Is	it	the	last	one?	In	the	-------center,	children	actively	explore	materials	that	help	develop	conceptual	understanding	such	as	shapes,	size,	and	volume.	a.	manipulative	and	math,	b.	discovery	and	science,	c.	library	and	literacy,	d.	dramatic	play	my	answer	is	a.	im	doing	a	math	word	scramble	and	i	cant
unscramble	the	following:	AHLSSNET	GIRLTEAHING	OUOETRRSAQ	GTEERNARTHA	ICARLAFTO	UNTOEGRNC	LUQSEA	VITSEIOP	UNRLERPADECPI	REAORDDRIE	ENITMELGENS	Help	me.	Due	tomorrow	by	the	time	i	get	to	Ms.	Bladys	class	if	m	-CORRECTION-	N2	+	O2	-->	2	NO	change	in	heat	(delta	H)=	43.2	kcal	based	on	the	reaction,	which
statement	is	true?	a)	43.2	kcal	are	consumed	when	1.00g	of	O2	reacts	b)	43.2	kcal	are	consumed	when	1.00g	of	N2	reacts	c)	43.2	kcal	are	consumed	when	1.00g	of	NO	HELP	PLZ	Which	of	the	following	is	one	reason	why	it	is	valuable	to	learn	Spanish?	A.	It	will	help	you	develop	better	math	skills.	B.	Your	friends	will	be	impressed	if	you	can	speak	two
languages.	C.	It	will	allow	you	to	enjoy	books,	poems,	songs,	and	Show	that	the	average	speed	of	a	rabbit	that	runs	a	distance	of	30	m	in	a	time	of	2	s	is	15	m/s.	I	have	a	whole	bunch	of	problems	such	as	these	and	i'm	not	sure	what	math	formula	to	use	to	figure	problem.I	know	its	Acceleration	!	change	of	velocity	time	Richa	spends	1/4	of	pocket	money
on	chocolates,1/8	on	pencils.At	the	end	she	had	R's	40	left.	How	much	did	she	have	at	the	beginning?	Many	solved	25	questions	of	his	math	assignment.This	was	1/8	of	total	questions.	He	does	not	know	1/5	of	the	rest.	How	Page	3	20.	Justin	is	working	thorough	a	math	problem	and	he	often	goes	back	over	his	steps	to	make	sure	he	didn’t	miss
anything	or	makes	a	mistake.	This	is	an	example	of	which	element	of	cognitive	development?	A.	Problem-solving	B.	Self	–monitoring	C.	Which	was	expected	of	women	in	the	early	nineteenth	century?	(Points	:	2)	working	to	own	property	obeying	their	husbands	teaching	their	daughters	reading	and	math	helping	their	husbands	make	economically
sound	decisions	Is	it	b?	A	student	opens	a	math	book	to	2	facing	pages.	The	product	of	the	page	numbers	is	930.	Find	the	page	numbers.	these	are	the	answers	for	MATH	6B:	TOOLS	OF	GEOMETRY	UNIT	TEST	1	1.	A	2.	A	3.	A	4.	A	5.	C	6.	B	7.	A	8.	B	9.	B	10.C	11.	D	12.B	13.	A	14.	A	15.	A	16.	D	17.	C	18.	B	19.	C	20.	B	21.	D	22.	B	23.	B	you	got	this,
please	don't	cheat,	just	check	your	answers,	NOT	if	you	were	to	look	up	13.28	divided	by	3	theres	nothing	for	the	answers	and	the	teacher	who	made	those	pages	dont	know	how	to	do	math	because	its	not	68	divided	by	3	that	im	looking	for	so	yall	dont	know	how	to	do	problems	where	did	you	go	to	college	math	question:	you	want	to	mat	and	frame	a
5x	7	photograph.	The	perimeter	of	the	outside	of	the	mat	is	60	inches.	the	mat	is	twice	as	wide	at	the	top	and	the	bottom	as	it	is	on	the	sides.	Find	the	dimensions	of	the	mat	Construct	a	90%	confidence	interval	for	the	population	mean.	Assume	the	population	has	a	normal	distribution.	A	same	of	15	randomly	selected	math	majors	has	a	grade	point
average	of	2.86	with	a	standard	deviation	of	0.78.	Round	to	the	nearest	hundredth.	8	Elizabeth	recorded	the	length	in	centimeters	of	the	pinky	fingers	of	10	students	in	her	math	class.	The	results	are	shown	below.	What	is	the	mean	absolute	deviation	for	length	of	a	pinky	finger?	6.1,	5.4,	5.8,	6.3,	6.2,	5.9,	6.5,	5.2,	4.9,	5.5	Lesson	13:	Geometry	Unit
Test	Essential	Math	7	B	Unit	1:	Geometry	plz	all	answers	i	need	it	im	not	lying	my	grandpa	has	cancer	stage	4	terminal	i	need	them	so	i	can	go	up	to	maryland	and	say	goodbye	please	The	product	of	Jenny	height	and	6	is	90	use	the	variable	j	to	represent	Jenny	height.	Math	translating	sentences	The	ratio	of	boys	to	girls	in	Mrs.	Ronilo's	math	class	is	3
to	1.	What	PERCENT	of	the	class	is	girls?	Ecology,	math	and	geography	are	_______.	you	need	to	find	out	what	they	have	in	common.	ecology,	mathe	and	geography	are	related	Lesson	6:	Multiplication	of	Rational	Numbers	Math	7A	Unit	4:	Operations	with	Fractions	and	Rational	Numbers	-7/9	x	3/5	a.	-27/45	b.	-7/15	c.	7/15	***	d.	27/45	construct	a	90
confidence	interval	for	the	population	mean	ÃŽ¼.	assume	the	population	has	a	normal	distribution.	A	sample	if	15	randomly	selected	math	majors	has	a	grade	point	average	of	2.86	with	a	standard	deviation	od	0.78.	Round	to	the	nearest	In	the	classroom,	the	reverse	mainstreaming/inclusion	technique	is	used	A	only	with	mildly	ed	students	B	more
often	than	the	resource	room	for	behavior	disordered	students	C	to	place	special	needs	students	in	the	majority	D	effectively	to	teach	math	and	A	final	exam	in	Math	160	has	a	mean	of	73	with	standard	deviation	7.73.	Assume	that	a	random	sample	of	24	students	is	selected	and	the	test	score	of	the	sample	is	computed.	Assuming	the	scores	are
normally	distributed,	what	percentage	of	sample	means	are	I	am	also	having	big	trouble	with	this	math	problem.	A	teacher	is	making	identical	activity	packets	using	92	crayons	and	23	sheets	of	paper.	What	is	the	greatest	number	of	packets	the	teacher	can	make	with	no	items	left	over?	Please	help	me.	Danielle	likes	to	work	alone	and	has	strong	math
and	analysis	skills.	She	like	the	challenges	of	the	outdoors	and	regularly	records	her	observations.	For	which	kind	of	job	would	she	be	most	suited?	Select	two	apply.	a.	Botanist	b.	Biology	teacher****	c.	Hi	I	need	help	with	this	math	problem:	The	plane	that	contains	the	points	(8,3,1),	(2,6,3),	and	(4,6,2)	has	an	equation	of	the	form	ax	+	by	+	cz	=	d.
Find	coefficients	for	this	equation,	trying	two	different	approaches	to	the	problem.	One	method	uses	Which	of	the	following	is	a	fragment	a.because	we	had	tickets.	b.running	past	first	base.	c.	Athletes	understanding	the	purpose	of	practice.	d.	all	of	the	above.	I	am	think	d	Which	of	the	following	is	a	fragment?	A.Here	are	the	answers	to	the	math	A
student	has	4	English	books,3	math	books,and	5	history	books.In	how	many	ways	can	these	books	be	arranged	on	a	shelf	if	the	books	in	same	subjects	must	be	kept	together?	Explain	how	many	total	number	of	credits	you	will	need	to	graduate	with	a	diploma	from	your	state.	how	many	total	math	credits	do	you	need?	how	many	credits	will	you	need	to
become	a	classified	as	a	tenth	grade	student?	A	student	spends	more	than	2	hours	on	his	math	and	English	homework.	if	Matt	takes	about	twice	as	long	as	English	what	is	the	maximum	time	that	the	student	can	spend	on	English	A.	1/3	B.1/2	C.1	D.2/3	I	think	its	b	please	help!!	What	is	the	simplified	form	of	the	following	expression?	2x2y	+	3x2	+	4y	+
3x2y	+	2y	A.	5x4y2	+	3x2	+	6y2	B.	8x2y	+	6y2	C.	5x2y	+	3x2	+	6y	D.	14x2y	I'm	confused	can	you	guys	help	me	please	its	been	a	while	since	i've	done	math	like	this.	Which	of	the	following	best	illustrates	a	negative	reinforcer?	A.	Carmine	changes	his	major	to	English	lit	after	failing	a	math	exam.	B.	On	a	hot	day,	Lindberg	always	drinks	lemonade.	C.
Copland	gives	up	candy	to	stave	off	chronic	acid	indigestion.	D.	Good	evening.	I	have	a	math	problem	that	I	need	if	someone	can	please	check	to	see	if	I	have	correct	and	I	will	post	each	one	separate.	Given	directed	line	segment	CD,	if	point	E	divides	CD	three-fourths	of	the	way	from	C	to	D,	find	the	coordinates	of	E,	Benzene	has	a	heat	of	vaporization
of	30.72kj/mol	and	a	normal	boiling	point	of	80.1	C	.	At	what	temperature	does	benzene	boil	when	the	external	pressure	is	445	?	This	is	how	I	am	solving	this	problem,	but	when	I	enter	the	answer	it	says	im	wrong.	Can	A	math	teacher	drove	by	a	playground	that	was	full	of	boys	and	dogs.The	teacher	notice	there	were	a	total	of	40	heads	and	100	feet.
Hom	many	boys	and	how	many	dogs	were	there?	A	student	opens	a	math	book	to	two	facing	pages.The	product	of	the	page	numbers	is	210.Find	the	page	numbers.	The	first	page	is	_________	The	second	page	is________	I	need	some	help	with	this	math	problem:	Let	n	be	the	number	of	oil	refineries	at	t	years	since	2005.	A	reasonable	model	of	oil
refineries	is	n=	-2.23t	+	210.53.	What	is	the	slope	of	this	model?	What	does	it	mean	in	this	situation?	A	math	teacher	drove	by	a	playground	that	was	full	of	boys	and	dogs.The	teacher	notice	there	were	a	total	of	40	heads	and	100	feet.	Hom	many	boys	and	how	many	dogs	were	there?	Jim	and	Mary	are	competing	in	a	math	contest.	They	have	to
calculate	how	much	it	takes	to	completely	fill	a	canister	with	a	radius	of	4	in.	and	a	height	of	5	in.	with	flour.	How	much	flour	will	it	take	to	fill	the	canister?	if	you	roll	a	number	cube	54	times	about	how	many	times	do	you	expect	to	roll	a	number	less	than	5?	7th	grade	Math	'Use	Theoretical	Probability	and	Proportional	Reasoning	To	Make	Predictions"
A	3-pound	pork	loin	can	be	cut	into	10	pork	chops	of	equal	weight.	How	many	ounces	is	each	pork	chop.	Is	my	math	correct?	3lb=48oz	so	48/10=4.8	so	is	each	pork	chop,	4.8	os	or	do	i	have	to	divide	8	by	10?	ok	this	past	week	i	was	sick	4	2	days	and	i	need	2	finish	this	math	test	by	today!!!!	and	i	didn't	get	2	learn	anything	like	u	know,	not	practive	soo
plz	anwser	these	questions:	1.what	is	a	concave	polygon	2.what	are	concentric	cicles?	3.	what	does	this	Matt	Miller,	age	28,	takes	out	$50,000	of	straight-life	insurance.	His	annual	premium	is	$418.20.	Using	the	tables	in	the	Business	Math	Handbook	that	accompanies	the	course	textbook,	determine	the	cash	value	of	his	policy	at	the	end	of	20	years.
A.	$13,250	Jill's	front	door	is	42"	wide	and	84"	tall.	She	purchased	a	circular	table	that	is	96	inches	in	diameter.	Will	the	table	fit	through	the	front	door?	I	know	the	answer	is	yes	but	how	I	don't	understand	the	math???	Hi	there!	So	in	math	I	am	having	trouble	for	factorization.	I	do	get	help	from	my	teacher	but	I’m	still	confused?	Terrence	is	taking
two	medications	for	his	flu.	He	begins	taking	them	both	at	10:00	PM	on	Tuesday.	If	he	takes	one	every	eight	hours	and	the	Test	answers	or	help	with	the	Lesson	17	measurement	unit	2,	7B	math	unit	test..	I	am	not	looking	for	direct	answers	but	it	past	due	and	my	grandma	passed	away	and	I	have	been	struggling	for	while	please	help!!	Graph	the
system	of	constraints	and	find	the	value	of	x	and	y	that	maximize	the	objective	function.	Constraints	{x	>=	0	y	>=	0	y	Calculate	the	percent	ionization	of	a	0.15	formic	acid	solution	in	a	solution	containing	0.11	potassium	formate.	I	have	the	formic	acid	Ka=1.8	*10^-4	When	I	solve	for	"x"	I'm	getting	1.1.44*10^-2	When	I	plug	that	into	equation	(x/0.15-
x)*100,	I'm	getting	This	math	problem	is	somewhat	tricky.	It	says	to	write	a	pair	of	decimal	division	expressions,	so	that	when	you	estimate	and	compare	the	quotients,	you	get	9>3.	The	below	is	what	I	thought	of:	18.2/2	and	30.3	divided	by	10	18.2	is	rounded	to	18	so	then	In	a	Group	of	95	students	the	ratio	of	students	who	like	mathematics	and
science	is	4:5	if	10	of	them	like	both	the	subject	and	15	of	them	like	none	of	the	subject	then	by	drawing	a	Venn	diagram,find	how	many	of	them	like	math	only	and	science	only	Main	Lesson	Content.	Lesson	15:	Measurement	Unit	Test	CE	2015	Essential	Math	7	B	Unit	2:	Measurement	Help!	It's	overdue	and	I	have	no	time!	can	anyone	please	help	me
set	this	problem	up,	I	can	do	the	math	but	I	have	tried	for	hours...	Air	fare	club	offers	membership	at	$300.00,	at	least	50	people	must	join.For	every	member	over	50	their	fare	will	be	reduced	by	$2	for	every	member.	Due	to	space	I	have	a	question	on	my	math	that	my	teacher	cant	help	me	with	because	this	one	is	for	try	it.	Can	you	help	me	see	if	it	is
right?:	It	says:	12	.	Wich	is	equal	to	30	hundreths?	A)3	thousandths	B)3tenths	C)3	tens	D)3thousands	I	think	the	answer	is	B	but,	it	Two	figures	are	similar	with	a	similarity	ratio	of	4	and	one	side	of	the	figure	is	3	cm	long.	Find	the	lenght	of	the	side	of	the	similar	figure.	I	don't	really	know	if	I	have	to	try	to	do	it	like	an	equation	or	if	there's	a	formula
for	this.	Sorry	if	Which	sentence	uses	an	infinitive	as	an	adverb?	A)	My	favorite	board	game	to	play	is	stored	in	the	basement.	B)	Nicole	wants	to	learn	the	art	of	rhetoric	before	next	year.	C)	Dave's	favorite	thing	to	do	is	to	walk	his	dog	every	evening.	D)	We	met	after	Which	of	the	following	functions	is	equivalent	to	the	function	below?	Select	two	that
apply.	f(x)=3	^2x+1	1)	g(x)=27^x	2)	g(x)=9^x	+1	3)	g(x)=3^2x	+3	4)	g(x)=3⋅9^x	5)	g(x)=2⋅3^x	+1	6)	g(x)=(1/3)^−(2x+1)	I	selected	answers	2	and	4.	Are	these	correct?	In	a	math	contest	of	20	problems,	5	points	were	given	for	each	correct	answer.	If	Janelle	answered	all	20	problems	and	scored	72	points	how	many	correct	answers	did	he	have?	A
man	selling	fruit	has	only	three	weights.	But	with	them	he	can	weigh	any	whole	number	of	kilograms	(from	1	kg	to	13	kg)	inclusive	on	his	balance.	What	weights	does	he	have?	Responses	math	-	Kalyan,	Friday,	September	5,	2008	at	4:38am	The	man	had	1kg,	3kg	I	was	placed	into	algebra	honors	instead	of	advanced	math..	I	am	in	7th	grade..	I	have	to
maintain	an	80%	for	the	entire	year	or	go	to	virtual	school	all	summer..	My	question	is:	Is	there	a	special	technique,	formula,	or	very	useful	site	that	might	help	me	Shelly	sews	a	square	blanket	that	has	an	area	of	144	square	ft.	It	has	36	square	blocks	each	of	the	same	size,	what	is	the	approximate	length	of	each	side	of	a	block.	A.1	foot	B.2	feet	C.3
feet	D.4	feet	Please	I	need	help	with	this	asap.i	suck	at	math	Lesson	10:	Integers	Unit	Test	Math	6	B	Unit	5:	Integers	HELP	Josiah	subtracts	337	from	600	and	writes	the	following:	600	minus	300	is	300.	Then	I	can	subtract	40	more	and	get	260.	But	I	should	have	only	subtracted	37	more,	so	I'll	add	3	back	to	my	difference	to	get	263.	Which	mental
math	strategy	did	Josiah	use?	A.	solve	this	math	statistic	problem:	an	insurance	company	insures	a	person's	antique	coin	collection	worth	$20,000	for	an	annual	premium	of	$300.	If	the	company	figures	that	the	probability	of	the	collection	being	stolen	is	0.002,	what	will	be	the	company's	my	math	homework	tells	me	to	find	the	area	of	a	circle	using
it's	circumference.	the	circumference	given	was	6π	yd.	(6	pi	yard).	can	someone	explain	to	me	how	to	find	the	area?	My	question	is	about	guess	my	rule,	in	Russian	math.	x	-	y	1=21	2=22	7=27	8=	don't	know	9=	don't	know	_	=	33	33-	don't	know	_	=	65	102=don't	know	_	-	130	and	then	it	says	Rule:	y=...	and	so	yeah.	the	signs	that	are	like	this	_	mean
I	don't	know	basically.	i	just	want	to	know	form	where	i	got	on	this	formula	the	4.9t²	on	this	formula	s=4.9t²+Vot+h	because	the	book	only	say	that	a	physics	theory	shows	that	when	an	object	is	thrown	upward	with	an	initial	velocity	Vo,	its	approximate	height	is	given	by	that	Yep,	another	math	question!	The	slope	of	a	line	passing	through	H	(	-2,	5)	is
-3/4,	which	ordered	pair	represents	a	point	on	the	line?	A:	(6,	-1)	B:(2,	8)	C:	(-5,	1)	D:(1,	1)	No	graph	was	with	the	question	btw.	I	tried	making	a	coordinate	plane	myself	and	In	a	certain	Math	class,	the	probabilities	have	been	empirically	determined	for	various	numbers	of	absentees	on	any	given	day.	These	values	are	shown	in	the	table	below.	Find
the	expected	number	of	absentees	in	a	given	day.	Number	of	absentees,	x	0	1	2	3	4	A	book	publisher	is	shipping	a	new	book	in	boxes	of	200.	If	30	boxes	fit	in	1	shipping	crate,	how	many	books	are	in	20	shipping	crates?	Explain	the	mental	math	you	used	to	solve	the	problem.	1(	which	number	is	the	solution	for	m	+	90	=	150	A(	50	B(	60	C(	140	D(	240
2(which	number	is	the	solution	of	n/3	=	-12	A(	-36	B(	-4	C(	4	D(	36	3(	use	mental	math	to	find	the	solution	of	19b	=	190	A(10	B(11	C(171	D(280	4(estimate	the	solution	of	y	+	1.8	=	alan	scored	a	total	of	14	points	for	answering	all	15	questions	on	a	math	quiz	for	every	correctly	answered	question	alan	got	2	points	for	every	wrong	ahe	lost	2	points	how
many	questions	did	he	answer	correclty	shelley	spent	17	min	washing	the	dishes.	she	spent	38	min	cleaning	her	room.	explain	how	you	can	use	mental	math	to	find	how	long	shelley	spent	on	the	two	tasks?	shelley	spent	17	min	washing	the	dishes.	she	spent	38	min	cleaning	her	room.	explain	how	you	can	use	mental	math	to	find	how	long	shelley	spent
on	the	two	tasks?	For	questions	1-5	solve	the	equation.	1.-2v-7=23	(A)15	(B)8	★	(C)-8	(D)-15	2.	X/3-10=-12	(A)-6	(B)-66	(C)6	(D)66★	3.	d/3+10=7	(A)51	(B)20	★	(C)0	(D)-9	4.	2(2-2x)=-3x	(A)-4	(B)4	★	(C)6	(D)0	5.	2.9n+1.7=3.5+2.3n	(A)3	(B)-3	(C).3	(D)1	For	questions	Using	NOT	when	searching	allows	you	to	______?	search	for	subtraction	math	games
eliminate	unwanted	topics	to	narrow	down	for	search	***	search	for	more	than	one	topic	narrow	down	your	topic	by	combining	words	The	city	council	has	decided	to	add	a	0.3%	tax	on	motel	and	hotel	rooms.	If	a	traveler	spends	the	night	in	a	motel	room	that	costs	$55	before	taxes,	how	much	will	the	city	receive	in	taxes	from	him?	I	am	studying	for	a
exam,	would	you	also	know	a	good	Josiah	subtracts	337	from	600	and	writes	the	following:	600	minus	300	is	300.	Then	I	can	subtract	40	more	and	get	260.	But	I	should	have	only	subtracted	37	more,	so	I'll	add	3	back	to	my	difference	to	get	263.	Which	mental	math	strategy	did	Josiah	use?	A.	1.	What	type	of	graph	does	not	show	the	number	of	times	a
response	was	given?	(1	point)	box-and-whisker	plot	line	plot	stem-and-leaf	plot	bar	graph	2.	Which	of	the	following	types	of	information	is	suited	for	display	on	a	scatter	plot?	(1	point)	Lesson	13:	Geometry	and	Measurement	Unit	Test	Math	6	B	Unit	3:	Geometry	and	Measurement	never	mind	i	will	not	get	all	the	answers	Lesson	15:	Whole	Numbers	and
Decimals	Unit	Test	CE	2015	Essential	Math	6	A	Unit	2:	Whole	Numbers	and	Decimals	Lesson	15:	Whole	Numbers	and	Decimals	Unit	Test	CE	2015	Essential	Math	6	A	Unit	2:	Whole	Numbers	and	Decimals	If	you	are	having	trouble	with	Lesson	11:	Data	and	Graphs	Unit	Test	CE	2015	Math	6	A	Unit	3:	Data	and	Graphs.	here	are	the	A's	On	a	math
test,12	students	earned	an	A.	This	number	is	exactly	25%	of	the	total	number	of	students	in	the	class.	How	many	students	are	in	the	class?	'In	this	problem	I'm	not	sure	whether	I'm	being	asked	to	solve	for	one	or	two	unknowns.	May	I	have	your	For	all	x	in	the	domain	of	the	function	x+1	over	x^3x	this	function	is	equivalent	to	\[a)\frac{1}{x^2}-
\frac{1}{x^3}\\	b)\frac{1}{x^3}-\frac{1}{x}\\	c)\frac{1}{x^2-1}\\	d)\frac{1}{x^2-x}\\	e)	\frac{1}{x^3}\]	This	is	one	of	the	questions	to	my	math	test	can	Joe	has	scored	84,	89,	and	90	on	his	first	three	exams	in	his	math	class.	If	the	standard	70,80,90	scale	is	used	for	grades	and	the	exams	are	equally	weighted,	what	must	he	score	on	the	final
exam,	f,	in	order	to	a)	Get	a	C	average	on	exams?	f	b)	Get	a	B	When	a	butterfly	lands	12	cm	from	a	concave	mirror,	it's	image	is	18	cm	behind	the	mirror.	Find	the	focal	length	1/f=(1/do)-(1/di)	1/f=(1/12)-(1/18)	1/f=0.0833-0.0555	1/f=0.0277	f=36	I'm	pretty	confident	w/	my	math	but	as	I	understood,	it's	do-di	if	it's	1-Becky	made	4	quarts	of	chicken
noodle	soup	in	a	big	pot,	then	served	-cup	bowls	of	soup	to	6	people.	How	much	soup	is	left	in	the	pot?	(1	qt	=	4	c)	A.	none	B.	1	qt	3	c	C.	1	qt	1	c	D.	3	c	my	son	put	answer	(B)	2-	A	bedroom	has	the	dimensions	shown.	What	Jess	ate	1/4	of	a	pizza.Jack	ate	1/3	of	the	same	pizza.Dennis	ate	1/2	of	the	same	pizza.Explain	and	show	with	math	if	this	is
possible?	On	a	sunday	afternoon,	11	children	and	5	adults	visit	the	culver	city	museum	of	math	oddities	at	a	total	admission	price	of	$158.00.	Adult	tickets	cost	$6.00	more	than	children	tickets.	What	is	the	price	of	an	adult	ticket?	5.	Joe	Sullivan	invests	$9,000	at	the	end	of	each	year	for	20	years.	The	rate	of	interest	Joe	gets	is	8%	annually.	Using	the
tables	in	the	Business	Math	Handbook	that	accompanies	the	course	textbook,	determine	the	final	value	of	Joe's	investment	at	the	end	The	function	D(h)=7e^-0.4(h)	can	be	used	to	determine	the	milligrams	D	of	a	certain	drug	in	a	patient's	bloodstream	h	hours	after	the	drug	has	been	given.	How	many	milligrams	will	be	present	after	9	hours.	Round
three	decimal	places.	so	7e^(-0.4	x	9)	=	The	function	D(h)=7e^-0.4(h)	can	be	used	to	determine	the	milligrams	D	of	a	certain	drug	in	a	patient's	bloodstream	h	hours	after	the	drug	has	been	given.	How	many	milligrams	will	be	present	after	9	hours.	Round	three	decimal	places.	so	7e^(-0.4	x	9)	=	Hey!	I	like	math,but	this	year	I'm	doing	algebra	1	and
am	not	doing	so	well.	I	understand	the	lessons,but	then	the	next	day	I	learn	a	new	way	to	solve	a	different	problem	and	confuse	the	old	way	with	this	new	way.	So	on	tests,I	know	how	to	answer	some	I	am	very	confused	on	how	to	figure	out	the	below	math	problem:	A	traffic	light	changes	every	30	seconds.	Another	traffic	light	changes	every	40
seconds.	Both	lights	just	changed.	After	how	many	minutes	will	both	lights	change	at	the	same	time	again?	Lesson	13:	Patterns	and	Variables	Unit	Test	CE	2015	Math	6	A	Unit	4:	Patterns	and	Variables	Hi	I	did	a	quiz	today	it	said	I	got	A	5/9	but	it	did	not	show	me	the	correct	answers	or	the	ones	i	missed	so	if	it	could	be	possible	that	someone	could
the	answers	so	I	could	see	which	ones	I	need	to	fix	please	help	me	I	just	came	here	to	see	which	ones	the	bar	and	graph	shows	the	number	of	students	by	major	in	the	college	of	arts	and	sciences.	What	is	the	ratio	of	history	majors	to	the	total	number	of	students	in	the	college?	Math-200	history-300	english-400	science-150	other-	175	Please
help,Math,Problem;John	and	George	together	raked	7/8	of	the	yard.	John	raked	3/4	of	that	amount.	What	part	of	the	yard	did	John	rake?	Carol	spends	1/2	hour	doing	math	homework	4/5	hour	doing	science	homework	and	1/4	hour	doing	history	homework	about	how	much	time	did	she	spend	in	all	doing	her	homework	After	a	Math	test,	each	of	the
twenty-five	students	in	the	class	got	a	peek	at	the	teacher's	grade	sheet.	Each	student	noticed	five	A's.	No	student	saw	all	the	grades	and	no	student	saw	his	or	her	own	grade.	What	is	the	minimum	number	of	students	who	the	length	of	a	rectangle	is	1	cm	less	than	twice	its	width.	the	area	is	28	cm	squared.	find	the	dimensions	of	the	rectangle.	Just
translate	the	English	into	"math"	"the	length	of	a	rectangle	is	1	cm	less	than	twice	its	width"	l=2w-1	"the	area	is	28"	A	square	measure	9	feet	on	a	side.	If	each	side	of	the	square	is	increased	by	3	feet,	how	many	square	feet	are	added	to	the	area?	What	are	the	steps	in	solving	this	math	equation?	A	wedge	is	cut	from	a	right	circular	cylinder	of	radius	r
by	two	planes,	one	perpendicular	to	the	axis	of	the	cylinder	and	the	other	making	an	angle	(beta)	with	the	first.	Find	the	volume	of	the	wedge	by	slicing	perpendicular	to	the	y-axis.	Please	show	all	I	am	looking	for	help	to	this	question	On	the	$xy$-plane,	the	origin	is	labeled	with	an	$M$.	The	points	$(1,0)$,	$(-1,0)$,	$(0,1)$,	and	$(0,-1)$	are	labeled
with	$A$'s.	The	points	$(2,0)$,	$(1,1)$,	$(0,2)$,	$(-1,	1)$,	$(-2,	0)$,	$(-1,	-1)$,	$(0,	-2)$,	and	escribe	que	clases	tienen	estas	personas,	usando	formas	de	tener.	1.	yo	a	picture	of	a	math	class	2.	nosotros	a	picture	of	an	english	class	3.	claudia	y	pablo	science	class	4.	tu	art	class	5.	claudia	history	class	6.	ustedes	spanish	class	Hi!	I	need	help	with	the
following	math	problem:	A	building	has	4	columns,	each	of	which	is	15	ft	high	and	has	a	circumference	of	1	2/3	yards.	1.	Find	the	lateral	surface	area	of	the	4	columns.	2.	How	much	will	it	cost	to	paint	the	4	columns	if	paint	costs	Business	Math	Handbook	that	accompanies	the	course	textbook	to	answer	the	question.	$140.10	per	month	Cash	price:
$5,600	Down	payment:	$0	Cash	or	trade	months	with	bank-approved	credit;	amount	financed:	$5,600	Finance	charge:	$2,806	Total	payments:	$8,406	Page	4	In	three	math	tests,	you	have	scored	91,95	and	88	points.	You	are	about	to	take	your	next	test.	Suppose	you	want	to	have	an	average	score	of	at	least	90	points	after	all	four	tests.	Explain	a
method	you	could	use	to	find	the	score	you	must	receive	in	order	two	students	are	playing	a	math	game	.	the	object	of	the	game	is	to	make	the	least	possible	number	by	arranging	the	given	digits	inside	absolute	value	bars	on	a	card	.	in	the	first	round	,	each	player	will	use	the	digits	3,5,and7	to	fill	in	the	card.	One	I	need	help	with	this	math	question:
As	you	calculate	the	design	cost	for	a	site,	you	conclude	it	will	be	$50	per	hour.	However,	your	final	estimate	to	the	client	will	be	for	$55	per	hour	to	include	which	cost	(without	including	the	cost	as	a	line	item)?	I'm	totally	lost	on	this	discussion	question	for	my	math	class.	Any	help?	What	is	the	difference	between	domain	and	range?	Provide	an
example	of	at	least	five	ordered	pairs	that	do	not	model	a	function.	The	domain	will	be	any	five	integers	between	0	and	Model:	P=2,320(1.2)∆~£	the	model	is	used	to	estimate	the	deer	population	in	a	region	where	the	x	is	the	number	of	years	after	the	year2009	using	the	model	estimate	the	deer	population	in	the	year2018	the	model	on	top	is	the
subject	I'm	studying	online	1-There	are	18	boys	and	12	girls	in	a	math	class.	What	is	the	ratio	of	girls	to	total	students?	A.	18:30	B.	12:30	C.	30:12	D.	30:18	2-	Which	of	the	following	ratios	are	equivalent	to	6:9?	choose	all	that	apply.	(2	are	correct)	A.	3:2	B.18/27	C.30:45	what	is	an	example	of	a	math	expression?	Can	you	solve	for	a	variable	in	an
expression?	Explain.	Can	you	solve	for	a	variable	in	an	equation?	A	bus	and	a	car	leave	the	same	place	and	travel	in	opposite	directions.	If	the	bus	is	traveling	at	50	mph	and	the	car	is	traveling	at	55	mph,	in	how	many	hpurs	will	they	be	210	miles	apart.	Again	please	help	me	with	the	boxes,	Im	in	advanced	math	and	I'm	rying	to	verify	the	volume	of	a
rectanguler	prism	h=10	inches	w=2	and	the	formula	to	find	the	volume	is	l.w.h	not	a	math	genius	just	trying	to	make	sure	i	am	calculating	this	correctly	to	find	the	lengh	we	had	to	divide	the	width	of	the	prism	so	2	inches	The	perimeter	of	a	rectangle	is	53	meters.	The	length	is	2.3	meters	longer	than	the	width,	w.	Write	and	solve	an	equation	to	find
the	width	of	the	rectangle.	Can	someone	show	and	explain	how	to	solve	this	step	by	step?	Trying	to	get	some	late	math	done.	Lesson	12:	Exponents,	Factors,	and	Fractions	Unit	Test	CE	2015	Math	7	A	Unit	3:	Exponents,	Factors,	and	Fractions	I	need	help	quick	please	can	someone	help	me	A	math	teacher	observes	that	on	the	average	3	students	came
to	their	8-9AM	class	late.	The	probability	5	students	will	be	late	in	their	8-9AM	class	is	????	HELP!	I	have	a	math	question	the	says	this:	In	track	practice,	Jesse	ran	a	mile	in	7	minutes.	His	mile	time	was	2	1/2	minutes	faster	than	Michael's	time.	Write	and	solve	an	equation	to	calculate	Michael's	mile	time.	I	can't	figure	out	what	to	do	and	it's
Determine	which	function	has	the	greater	rate	of	change	1.The	rates	of	change	are	equal.	2.The	graph	has	a	greater	rate	of	change.	3.The	table	has	a	greater	rate	of	change.	4.none	of	the	above	file:///C:/Users/SCHOOL/Pictures/math.JPG	HELP	ME	UNDERSTAND	What	effect	did	the	space	race	have	on	American	public	education	during	the	middle	of
the	20th	century?	A.	It	placed	increased	importance	on	graduating	as	many	students	as	possible.	B.It	put	increased	importance	on	foreign	languages,	specifically	Russian.	Solve	the	following	problem	taken	from	Treviso	Arithmetic,	a	math	textbook	published	in	1478	by	an	unknown	Italian	author:	A	man	finds	a	purse	with	an	unknown	number	of
ducats	in	it.	After	he	spends	1/4,	1/5	and	1/6	of	the	amount,	9	ducats	remain.	It	is	A	0.30-kg	softball	has	a	velocity	of	12	m/s	at	an	angle	of	30°	below	the	horizontal	just	before	making	contact	with	the	bat.	What	is	the	magnitude	of	the	change	in	momentum	of	the	ball	while	it	is	in	contact	with	the	bat	if	the	ball	leaves	the	bat	with	a	need	help	on	this
one...i	hate	these	kind	of	math	problems..lol....	Kickapoo	Camp	has	3	activities	periods	with	the	choices	shown.	How	man	different	schedules	are	possible??	Period	1	Period	2	Period	3	leatherwork	archery	swimming	wood	carving	field	games	IN	A	CLASS	OF	130	STUDENTS.85	PASSED	IN	MATHS,	60	PASSED	IN	SCIENCE,	10	FAILED	IN	BOTH.	a)
how	many	passed	in	science	but	failed	in	math	b)how	many	failed	in	exactly	one	subject	Three	pictures	hang	side	by	side	on	a	wall.	What	is	the	total	area	of	the	wall	that	the	pictures	cover?	Length	is	10	1/2	inches,	10	1/2	inches,	10	1/2	inches	Width	14	2/3	inches	Would	I	need	to	add	10	1/2	plus	10	1/2	plus	10	1/2	and	then	multiply	by	14	2/3	Math	help
please?	Eric,	Jose,	Shannon,	and	Jackie	wanted	to	plant	a	garden.	Jose’s	dad	said	they	could	use	a	rectangular	space	in	the	backyard	that	was	8	m	by	4	m.	The	friends	decided	they	would	first	like	to	make	a	colorful	border	for	the	garden	using	Please	help	me	with	the	following:	Read	the	sentence.	Juanita	used	her	affinity	for	numbers	to	help	her
design	a	computer	program	that	relied	on	college-level	math	formulas,	even	though	she	was	only	in	middle	school.	Based	on	the	context	clues	in	the	You	spent	58	minutes	doing	English	homework	and	47	minutes	doing	math	homework.	How	much	more	time	did	you	spend	doing	English	homework?	(1	point)	Calculate	the	mean	and	median	of	the
following	grades	on	a	math	test:	97,	88,	89,	86,	83,	80,	78,	74,	64,	62,	49	Mean	=	Median	=	Is	this	data	set	skewed	to	the	right,	symmetric,	or	skewed	to	the	left?	(Enter	"SKEWED	RIGHT",	"SYMMETRIC",	or	The	math	tessellations:	unit	4	1.	The	architectural	design	was	created	by:	1.	using	an	organic	pattern	in	the	form	of	tessellation.	2.	using	a
geometric	pattern	in	the	form	a	tessellation.	3.	using	no	definite	pattern	and	placing	shapes	randomly.	4.	using	You	want	to	create	an	open	rectangular	box	from	a	rectangular	box.	from	a	square	piece	of	cardboard	20	inches	by	20	inches.	You	will	cut	a	3	inch	square	from	each	corner.	Draw	a	diagram	and	find	the	length	of	the	box.	Can	someone	help
me	with	this	diagram	Hi	this	is	math	How	many	pounds	of	mixed	nuts	selling	for	4.75	dollars	per	pound	(lb,	not	money)	should	be	mixed	with	10	pounds	of	dried	fruit	selling	for	5.50	dollars	per	pound	to	obtain	a	trail	mix	that	sells	for	4.95	per	pound?	I	find	these	really	hard	two	students	are	playing	a	math	game.	the	object	of	the	game	is	to	make	the
least	possible	number	by	arranging	the	given	digits	inside	absolute	value	bars	on	a	card.	In	the	first	round,	each	player	will	use	the	digits	3,	5,	and	7	to	fill	in	the	card.	One	In	Wilbur's	math	class,	his	grade	is	based	on	the	average	score	of	six	tests,	each	worth	100	points.	Wilbur	always	worries	about	his	grade.	He	knows	that	his	average	on	the	four
first	tests	is	88.5.	What	is	the	lowest	average	he	could	get	on	his	next	two	please	help	me	with	math.	A	car	travels	132	miles	using	4	gallons	of	gas.At	that	rate,how	far	can	the	car	travel	using	7	gallons	of	gas?	A.231	miles	B.264	miles	C.134	miles	D.1,260	miles	1.how	many	different	permutations	can	you	make	with	the	letters	in	the	word	s	e	v	e	n	t	e	e
n	?	2.a	teacher	has	a	set	of	12	probelms	to	use	on	a	math	exam.	the	teacher	makes	different	versions	of	the	exam	by	putting	10	questions	on	each	exam.	how	many	step	by	step	solving	plsss	im	very	law	in	math	so	plss	to	solve	step	by	step	thanks.On	August	1,1990,	Mr.Talamos	borrows	9,500	pesos	and	agrees	to	pay	the	compounded	amont	on	the	day
he	pays	the	debt.	If	interest	is	at	the	rate	of	5	1/2%	compounded	a	math	teacher	is	randomly	distributing	15	rulers	with	centimeters	labels	and	10	rulers	without	centimeter	labels.	What	si	the	probability	that	the	first	ruler	she	hands	out	will	have	centimeter	labels	and	the	second	ruler	will	not	have	labels?	The	roots	of	the	equation	x^4	-	3x^2	+	5x	-	2
=	0	are	a,	b,	c,	d.	By	the	relation	y=x^2,	or	otherwise,	show	that	a^2,	b^2,	c^2,	d^2	are	the	roots	of	the	equation	y^4	-	6y^3	+	5y^2	-	13y	+	4	=	0.	The	2nd	part	of	the	question	asks:	find	the	value	of	s~2	Alan	scored	a	total	of	14	points	for	answering	all	the	15	questions	on	a	math	quiz.	For	every	correctly	answered	question,	Alan	got	2	points.	For
every	wrong	answer,	he	lost	2	points.	How	many	questions	did	he	answer	correctly?	math	word	problem	a	building	240ft	tall	casts	a	100	foot	long	shadow.	If	a	person	stands	at	the	end	of	the	shadow	and	looks	up	to	the	top	of	the	building,	what	is	the	angle	of	the	persons	eyes	to	the	top	of	the	building(to	the	nearest	hundredth	of	a	Lesson	13:
Geometry	Unit	Test	Math	7	B	Unit	1:	Geometry	help	It	is	a	unit	test	and	I	don't	know	what	to	do	if	you	could	help	me	out...……………?	David	drew	a	triangle	PQR	as	shown.	If	angle	QPR	measures	135	degrees,	which	statement	is	true	for	angle	In	math	class,	a	student	has	an	average	grade	of	85%	for	five	tests	so	far.	What	grade	must	that	student	earn
on	the	next	test	to	reach	an	average	grade	of	90%	for	all	six	tests?	One	letter	is	randomly	selected	from	the	word	PRIME	and	one	letter	is	randomly	selected	from	the	word	MATH.	What	is	the	probability	that	both	letters	selected	are	vowels?	Part	C	Two	days	later,	Kelly	surveyed	the	same	13	classmates	and	found	that	none	of	them	had	been	given
math	homework	since	she	last	surveyed	them.	By	how	much	does	the	mean	of	Kelly’s	second	data	set	change	in	comparison	with	the	mean	of	the	data	set	in	Solve	the	system	of	equations	by	substitution	and	explain	all	your	steps	in	words:	3x	+	y	=	12	x	=	y	−	8	.	Is	this	a	good	way	to	explain	this	problem?	Step	1:	Since	X	is	given	to	us.	We	can	plug	it
into	the	x-value	in	the	first	equation.	x=	y-8	into	A	first	grade	teacher	present	her	lessons	on	addition	Concept	in	several	ways	to	accommodate	to	the	children's	ways	of	showing	what	they	know	and	can	do.,	she	includes	rap	chant	about	addition,	small	group	practice	with	math	manipulatives	and	a	cumulative	Yanira	is	3	years	older	than	Tim	and	twice
as	old	as	Hannah.	Tim	is	2	years	older	than	Hannah.	How	old	are	Yanira	Tim	and	Hannah?	Explain	how	you	did	the	problem	and	the	answer.	math	7	accelerated	-	tom,	Tuesday,	September	24,	2013	at	6:46pm	Ms.	Sue	thanks	Can	someone	check	my	answers	so	far	i	have	1-9	im	working	on	essay	atm.	1:	Which	of	the	following	sentences	correctly	uses
punctuation	to	show	a	quick	change	between	ideas?(1	point)	How	can	we	try	to	surprise.	Your	friend.	For	their	graduation.	"Did	you	I	need	your	help...	I've	posted	this	question	a	while	ago	but	no	one	has	answered	it	yet.	Please	please	help	me.	Which	of	the	following	series	can	be	used	to	compute	ln(.8)?	a)	ln(x-1)	expanded	about	x=0	b)	lnx	about	x=0
c)	ln	x	in	powers	of	(x-1)	d)	The	area	of	the	green	square	is	9	ft2.	The	area	of	the	yellow	square	is	25	ft2.	What	is	the	area	of	the	red	square	(labelled	"b"	in	the	diagram)?	A)	5	ft2	B)	16	ft2	C)	81	ft2	D)	128	ft2	Oh,	"ft2"	means	squared	idkk	I	did	the	math	and	got	C.	Is	it	correct	?	Hi.	I	found	this	question	on	a	Math	Counts	practice	test	and	it	seriously
confused	me.	I've	never	learned	about	this,	and	it	would	help	if	someone	helped	me.	Thanks	in	advance.	How	many	elements	are	in	the	intersection	of	the	set	of	all	the	prime	numbers	The	combined	math	and	verbal	scores	for	students	taking	a	national	standardized	examination	for	college	admission,	is	normally	distributed	with	a	mean	of	620	and	a
standard	deviation	of	220.	If	a	college	requires	a	student	to	be	in	the	top	10	%	of	students	Lesson	12:	Operations	with	Fractions	Unit	Test	CE	2015	Math	7	A	Unit	5:	Operations	with	Fractions	and	Rational	Numbers	-I	need	help	ASAP-	517.3	km	=	_	m.	5,941	mm	=	5.941	_	1	7/8	+	1/9	5	2/11	-	3	2/18	7	1/3	*	4	15/17	3/9	+	4/9	-6/7	+	6/21	14	2/9	+	11	2/3
You	have	a	Spanish	club	meeting	every	fourth	day	and	a	math	club	meeting	every	tenth	day.	When	is	the	first	time	they	will	meet	on	the	same	day?	My	Answer:	4	+	10=14	they	would	meet	on	the	14th	day	Would	that	be	the	correct	answer?	I	am	confused.	1.	Find	the	mean	:	12	,	8	,	7	,	10	,	8	,	8	,	10	A.	63	B.	12.6	C.	9	D.	7	2.	The	sixth-grade	classes
have	28,20,30,	and	25	students.	What	is	the	mean	number	of	students	in	class?	A.	25.75	B.	26.25	C.	25	D.	27	3.	The	mean	of	four	numbers	is	30.	If	three	of	A	mall	charges	25pesos	for	the	first	hour	or	a	fraction	of	an	hour	as	parking	fee.	An	additional	25pesos	is	charged	for	every	additional	hour,	or	a	fraction	of	an	hour	of	parking.	The	parking	area
operates	from	7A.M.	to	12	midnight	every	day.	a.	Write	a	.	I	need	an	expiation	on	a	math	concept,	because	I	know	the	right	answer,	I	just	don't	know	why	it	is	The	problem	says	to	find	the	absolute	maximum	and	minimum	of	the	function	f(x)=x^3-12x	over	the	interval	[-5,	2]	I	found	the	1st	der.	3x^2-12	and	set	equal	Read	the	following	sentences	from
"The	High	School	Step	Team."	As	Karla	turned	away	from	Jade	and	walked	down	the	hall	towards	the	math	class,	she	pictured	her	cousin	shrugging	her	shoulders.	"Okay,	do	whatever	you	think	is	best,"	Jade	said.	"I'll	see	you	Choose	the	sentence	that	shows	the	correct	usage	of	the	PAST	PERFECT	TENSE:	A)	by	the	time	I	woke	up,	my	husband	has
made	the	coffee	and	scrambled	eggs.	B)	I	have	seen	the	movie	Manchurian	Candidate	several	times,	but	I	have	not	read	the	book.	C)	when	I	Which	would	be	an	important	consideration	for	developing	a	preschool	classroom?	A.	Unlike	kindergarten	children,	children	at	this	age	don't	participate	in	long-term	projects,	so	they	don't	need	storage	for
longterm	work.	B.	You	won't	need	a	science	or	math	Ok,	I	am	horrible	at	math	so	I	am	going	to	need	someone's	help.....	1.	Solve.	|x+3|	Cosmos	Episode	1	Worksheet	Directions:	Answer	the	questions	as	you	watch	episode	1	of	Cosmos:	A	Spacetime	Odyssey	1.	What	is	the	name	of	Neil	deGrasse	Tyson’s	“spaceship”	2.	What	is	responsible	for	creating
wind	and	keeping	everything	in	the	solar	On	Joe	Martin's	graduation	from	college,	Joe's	uncle	promised	him	a	gift	of	$12000	in	cash	or	$900	every	quarter	for	the	next	4	years	after	graduation.	If	money	could	be	invested	at	8%	compounded	quarterly,	which	offer	is	better	for	Joe?	I	have	done	this	A	math	teacher	is	randomly	distributing	15	rulers	with
centimeter	labels	and	10	rulers	without	centimeter	labels.	What	is	the	probability	that	the	first	ruler	she	hands	out	will	have	centimeter	labels	and	the	second	ruler	will	not	have	labels.	A	final	exam	in	Math	160	has	a	mean	of	73	with	standard	deviation	7.73.	Assume	that	a	random	sample	of	24	students	is	selected	and	the	test	score	of	the	sample	is
computed.	Assuming	the	scores	are	normally​	distributed,	what	percentage	of	sample	means	If	everyone	had	the	same	body	proportions,	your	weight	in	pounds	would	vary	directly	with	the	cube	of	your	height	in	feet.	Assume	the	average	height	and	weight	of	a	female	in	your	math	class	is	5'5"	and	135	pounds.	Use	this	information	to	write	a	variation
For	their	homecoming	parade	the	students	of	U-Math	have	created	a	colorful	banner,	53	meters	in	length,	that	is	made	of	two	pieces	of	parachute	material.	The	short	piece	is	19	meters	shorter	then	the	long	piece.	Find	the	Length	of	each	piece.	Length	of	the	During	one	term	in	Math	310,	Min	Lee	took	seven	tests,	the	last	of	which	carried	twice	the
weight	of	each	of	the	others	when	averages	were	computed.	Min’s	test-score	vector	for	the	term	was	[84,78,91,80,72,88,83].	Show	that	Min’s	final	average,	a	There	is	a	football	field	and	the	length	shows	120	yd	and	the	width	is	53	1/3	yd	a.	What	are	the	dimensions	of	a	football	field	in	feet?	b.	A	chalk	line	is	placed	around	the	perimeter	of	the	football
field.	What	is	the	length	of	this	line	in	feet?	c.	About	The	area	of	a	plot	of	land	is	2496	square	meters.	A	small	part	of	the	land	is	fenced.	The	ratio	of	the	area	of	the	plot	of	land	to	the	area	that	is	not	fenced	is	48:31.	What	is	the	area	of	the	land	that	is	not	fenced?	(5th	grade	math)	As	a	hardworking	student,	plagued	by	too	much	homework,	you	spend	all
night	doing	math	homework.	By	6am,	you	imagine	yourself	to	be	a	region	bounded	by	y=5x2	x=0	x=3	y=0	As	you	grow	more	and	more	tired,	the	world	begins	to	spin	around	you.	However,	20.	The	time	t	required	to	drive	a	certain	distance	varies	inversely	with	the	speed,	r.	If	it	takes	2	hours	to	drive	the	distance	at	67	miles	per	hour,	how	long	will	it
take	to	drive	the	same	distance	at	55	miles	per	hour?	a.	about	1.64	hours	b.	about	Which	of	the	following	statements	best	describes	proactive	interference?	A.	Having	majored	in	French	history	in	the	1960's,	Ken	finds	it	difficult	to	grasp	new	discoveries	about	Marie	Antoinette	B.	While	learning	Italian,	Lucy	realizes	she	is	losing	her	Carlos	spent	1	1/4



hours	doing	his	math	home	work.	He	spent	1/4	of	this	time	practicing	his	multiplication	facts.	How	many	hours	did	Carlos	spend	practicing	his	multiplication	facts?	Need	an	answer	in	numbers	and	an	answer	in	fractions.	a	class	of	ten	students	took	a	math	exam.	each	problem	was	solved	by	exactly	seven	of	the	ten	students	the	first	nine	students	in
the	class	solved	exactly	four	problems	each	.	what	is	the	number	of	problems	solved	by	the	tenth	student	The	High	School	Step	Team	Karla’s	cousin	Jade	urged	her	to	join	the	step	team.	“This	afternoon	you	should	definitely	try	out!”	Jade	suggested	after	the	final	bell	rang.	“I	know	she	wants	the	best	for	me,”	Karla	thought	to	herself,	“but	I’m	Can
someone	help	me	asap	with	this	unit	test	Lesson	14:	Equations	and	Inequalities	Unit	Test	Math	7	A	Unit	4:	Equations	and	Inequalities	In	a	group	of	40	students,	all	students	study	maths,	28	study	biology	and	math,	20	students	study	geography	and	maths	and	x	students	study	all	three	subjects.	a.	Draw	a	venn	diagram	to	represent	the	information
above,	showing	in	terms	of	x,	the	number	of	The	rotor	is	an	amusement	park	ride	where	people	stand	against	the	inside	of	a	cylinder.	Once	the	cylinder	is	spinning	fast	enough,	the	floor	drops	out.	A-What	force	keeps	the	people	from	falling	out	the	bottowm	of	the	ride?	I	think	that	it's	the	Normal	1.)	Why	are	there	usually	two	solutions	in	quadratic
equations?	2.)	Under	what	situation	would	one	or	more	solutions	of	a	rational	equation	be	unacceptable?	If	putting	the	found	"solution"	cannot	be	put	back	into	the	original	equation	without	violating	Diana	is	driving	182	miles	to	Orlando	for	a	math	convention.	She	has	already	driven	x	miles	of	th	trip.	If	Diana	drives	below	70	miles	per	hour	for	the
remainder	of	th	trip,	which	inequality	best	represents	the	amount	of	time	in	hours,	t,	that	is	will	take	A	Ladder	AB,	of	length	13m,	rests	against	a	vertical	wall	with	its	foot	on	a	horizontal	floor	at	a	distance	of	5meters	from	the	wall.	When	the	top	of	the	ladder	slips	down	a	distance	x	meters	on	the	wall,	the	foot	of	the	ladder	moves	out	x	meters.	Find	x.
the	math	class	had	29	enrolled	students	while	34	students	were	enrolled	into	both	classes,	how	many	are	enrolled	in	only	one	of	the	classes?	In	a	class,30	students	passed	in	math,20	passed	in	physics	and	8	passed	in	both.	How	many	students	failed	in	both	if	the	class	has	45	students?	1)	For	the	reaction	system,	2	SO2(g)	+	O2(g)	=	2	SO3(g),	Kc	has	a
value	of	4.62	at	450.0	K	(Kelvin).	A	system,	at	equilibrium	has	the	following	concentrations:	(SO3)	=	0.254	M;	(O2)	=	0.00855	M.	What	is	the	equilibrium	concentration	of	SO2?	Is	set	this	up	The	boy	decided	to	ride	the	terror	tower.	at	its	maximum	height,	the	ride	reaches	65m	above	ground.	When	the	boy	reaches	the	top	of	the	tower,	his	gum	falls	out
of	his	mouth.	the	height	of	the	gum	can	be	given	by	the	model:	h=65-4.9t^2	where	t	is	in	I	already	posted	this	question,	and	Reiny	had	a	question	about	the	question.	How	many	square	units	are	in	the	region	satisfying	the	inequalities	y>=(x)	and	y	please	check	my	math!!	THANKS	SO	MUCH	1.	Identify	the	decimal	And	simplified	fractional	form	of
80%.	A.	0.8	and	3/5	B.	0.8	and	4/5(I	PICK	THIS)	C.	0.08	and	3/5	D.	0.08	and	4/5	2.A	baseball	team	wins	45%	of	its	games.	What	fraction	of	games	does	it	win?	A.	A	math	class	has	girls	and	boys	in	the	seventh	grade	and	girls	and	boys	in	the	eighth	grade.	The	teacher	randomly	selects	a	seventh	grader	and	an	eighth	grader	from	the	class	for	a
competition.	What	is	the	probability	that	the	students	she	selects	are	both	A	lottery	offers	two	options	for	the	prize.	Option	A:	$1000	a	week	for	life.	Option	B:	$600	000	in	one	lump	sum	The	current	expected	rate	of	return	for	large	investment	is	3%/a,	compounded	monthly.	a.Which	option	would	the	winner	choose	if	s/he	expects	to	In	a	math	class
with	20	students,	a	test	was	given	the	same	day	that	an	assignment	was	due.	There	were	11	students	who	passed	the	test	and	15	students	who	completed	the	assignment.	There	were	9	students	who	passed	the	test	and	also	completed	the	There	are	roughly	8000	wildfires	in	Canada	each	year.	To	help	fight	the	fires,	planes	are	used	to	drop	water	and
fire	retardants	on	the	flames.	One	such	plane	flies	horizontally	over	a	fire	at	a	speed	of	60	m/s	and	drops	a	giant	water	balloon	to	help	Jason	has	4	tiles.	Each	tile	has	a	number	printed	on	it.	The	numbers	are	2,3,6,	and	8.	A	decimal	number	is	formed	using	the	tiles	and	the	clues.	Be	a	math	detective	and	find	the	number.	Clues:	digit	in	tens	place	is	the
greatest	number.	digit	in	tenths	is	Hello	i	am	doing	assignment	in	my	math	20-2	class.	The	question	is:	data	collected	of	cars	passing	on	the	road	revealed	that	the	average	speed	was	90	km/h	with	a	standard	deviation	of	5	km/h	and	the	data	which	is	normally	distributed	a	policeman	is	A	spring	has	an	unstretched	length	of	10	cm	.	It	exerts	a	restoring
force	F	when	stretched	to	a	length	of	12	cm	.	For	what	total	stretched	length	of	the	spring	is	its	restoring	force	3F?	At	what	compressed	length	is	the	restoring	force	2F?	I	keep	doing	Josie	must	have	at	least	320	points	in	her	math	class	to	get	a	B.	She	needs	a	B	or	better	to	maintain	her	GPA	so	she	can	play	an	the	basketball	team.	The	grade	is	based
on	four	50-point	tests,	three	20-point	quizzes,	two	20	point	projects,	and	a	final	exam	1.	If	the	Earth	were	the	size	of	B-B	(with	a	radius	of	about	0.2	centimete),	how	big	would	the	Sun	be?	How	big	would	the	Milky	Way	be?	2.	Imagine	building	a	model	of	the	Solar	System	on	your	campus.	Work	out	the	diameter	and	spacings	of	the	planets	in	So	this	is	a
three	part	question.	I	solved	the	first	part	correctly	but	I	need	help	with	the	second	and	third.	Q:	The	dissociation	equilibrium	constants	for	the	protonated	form	of	of	alanine	(a	diprotic	amino	acid,	H2X+)are	Ka1	=	4.6	x	10^-3	and	Ka2	=	2.0	A.	A	survey	of	110	teachers	showed	that	28	of	them	have	a	second	job.	B.	A	survey	of	90	teachers	showed	that
27	of	them	have	a	second	job.	C.	A	survey	of	70	teachers	showed	that	21	of	them	have	a	second	job.	D.	A	survey	of	80	teachers	showed	that	32	of	In	a	math	class	70	students	received	an	A	on	the	third	test,	which	is	175%	of	the	students	who	received	an	A	on	the	second	test.	How	many	students	received	an	A	on	the	second	test	Could	you	help	me	with
this	math	question:	A	can	in	the	shape	of	a	right	circular	cylinder	is	required	to	have	a	volume	of	500	cubic	centimeters.	The	top	and	bottom	are	made	of	material	that	costs	11	cents	per	square	centimeter,	while	the	sides	are	made	of	What	is	the	end	behavior	of	the	graph	of	f(x)	=	-0.25x^2	-	2x	+	1?	A)	As	x	increases,	f(x)	increases.	As	x	decreases,	f(x)
decreases.	***	B)	As	x	increases,	f(x)	decreases.	As	x	decreases,	f(x)	decreases.	C)	As	x	increases,	f(x)	increases.	As	x	decreases,	1.	which	of	the	following	is	true	of	a	random	sample?	a.	it	is	the	only	way	to	sample	a	population.	b.	each	member	of	the	sample	is	a	volunteer.	c.	it	is	always	the	easiest	way	to	sample	a	population.	d.	each	member	of	the
population	has	an	equal	chance	of	Jessica	is	an	avid	reader.	She	bought	a	copy	of	the	best	seller	book	'Math	is	Beautiful'.	On	the	first	day,	Jessica	read	1/5	of	the	pages	plus	12	more,	and	on	the	second	day	she	read	1/4	of	the	remaining	pages	plus	15	pages.	On	the	third	day,	she	read	1/3	Page	5	9.	Eric's	mother	wants	to	help	him	with	his	math
homework.	She	puts	24	cookies	in	a	cookie	jar.	Twelve	(12)	of	the	cookies	are	chocolate	chip,	8	are	oatmeal,	and	4	are	peanut	butter.	She	then	has	Eric	select	a	cookie	from	the	jar	without	looking.	Next,	1)	What	is	the	purpose	of	computer	simulations?	A.	to	provide	virtual	hands-on	experience	when	actual	hands-on	experience	is	not	possible***	B.	to
provide	an	online	version	of	a	printed	text	C.	to	provide	clip	art	about	the	subject	being	studied	D.	to	Situation	Parent,	Inc.	is	contemplating	a	tender	offer	to	acquire	80	percent	of	Subsidiary	Corporation's	common	stock.	Subsidiary's	shares	are	currently	quoted	on	the	New	York	Stock	Exchange	at	$85	per	share.	In	order	to	have	a	reasonable	chance
of	the	What	is	the	justification	for	the	step	taken	from	line	2	to	line	3?	5	lines	of	math.	The	first	line	has,	3	x	plus	9	minus	7	x	equals	x	plus	10	plus	x.	The	second	line	has,	negative	4	x	plus	9	equals	2	x	plus	10.	An	arrow	pointing	from	the	front	of	the	Abby	can	buy	an	8	pound	bag	dog	of	food	for	$7.40	or	a	4	pound	bag	of	the	same	dog	food	for	$5.38.
Which	is	the	better	buy?	My	answer:	I	would	have	to	say	to	buy	an	8	pound	bag	of	dog	food.	I	am	confused	though	if	they	are	asking	what	math	operation	to	do.	15.	A	survey	about	the	student	government	program	at	a	school	finds	the	following	results:	110	students	like	the	program.	120	students	think	the	program	is	unnecessary.	210	students	plan
on	running	for	student	government	next	year.	If	a	circle	graph	were	All	grade	4	students	need	to	finish	a	math	quiz	on	their	computer	at	home	in	2	weeks.	In	the	quiz,	there	are	23	questions	and	they	have	up	to	2	minutes	to	answer	each	question.	a.	There	are	3	Grade	4	classes	and	there	are	21	students	in	each	class.	How	I	am	having	problems	with
this	question	in	my	math	class.	Consider	a	student	loan	of	​$25,000.00	at	a	fixed	APR	of	12%	for	25	years.	a.	Calculate	the	monthly	payment.	The	monthly	payment	is	$263.31	b.	Determine	the	total	amount	paid	over	the	term	of	the	The	following	electrochemical	cell	can	be	used	to	calculate	the	formation	constant	Kf	for	a	metal	and	EDTA.	The	cell	has	a
voltage	of	-0.262V.	The	right	half	cell	contains	a	metal	(M^2+)	with	a	standard	reduction	potential	of	-0.236V.	Calculate	the	Kf	for	A	survey	was	taken	of	students	in	math	classes	to	find	out	how	many	hours	per	day	students	spend	on	social	media.	The	survey	results	for	the	first-,	second-,	and	third-period	classes	are	as	follows:	First	period:	2,	4,	3,	1,
0,	2,	1,	3,	1,	4,	9,	2,	4,	3,	0	z^4	+	81	=	0	(solve)	change	it	to	polar,	then	take	the	root.	z^4=	81@180	z=	3@180/4	+	n90	where	n=0,	1,	2,	3	check:	z=	3@180/4	+	3*90=3@315	z^4=81@(4*315)=81@1260=	91@180=-81	you	can	check	it	at	the	other	roots	also.	this	is	what	i	did:	z^4	=	-	81	z	(81	In	a	math	class	with	28	students,	a	test	was	given	the
same	day	that	an	assignment	was	due.	There	were	20	students	who	passed	the	test	and	19	students	who	completed	the	assignment.	There	were	16	students	who	passed	the	test	and	also	completed	the	I	give	medals	and	'best	answer'	:)	I	need	help	asap!	Which	of	the	following	is	one	way	to	assess	whether	or	not	a	learning	game	is	effective?	a.	Being
able	to	win	the	game	b.	doing	a	quiz	before	and	after	the	game	to	see	what	you	have	learned	c.	Making	it	Here	is	the	math	problem:	The	height	of	an	object	in	free	fall,	or	otherwise	thrown	into	the	air	near	the	earth's	surface,	with	initial	vertical	velocity	v0	in	feet	per	seconds,	and	from	the	initial	height	h0	in	feet,	at	any	given	time	t	in	seconds	is	Your
a	7th	grade	math	teacher	and	you	want	to	create	an	experiment	for	your	class	with	red,	yellow	and	purple	marbles	in	a	bag.	You	want	to	theoretical	probability	of	drawing	a	red	marble	to	be	1/2,	the	theoretical	probability	of	drawing	a	yellow	to	be	The	distriubution	of	the	SAT	scores	in	math	for	an	incoming	class	of	business	students	has	a	mean	of	580
and	standard	deviation	of	25.	Assume	that	the	scores	are	normally	distributed.	a.	Find	the	probability	that	an	individual's	SAT	score	is	less	that	550.	why	did	the	indian	wear	feathers	in	his	hair.	..brain	teaser	help	How	is	this	related	to	"math"?	I	think	that	it	is	partially	a	symbol	of	status.	However,	since	this	is	not	my	area	of	expertise,	I	searched
Google	under	the	key	words	"Indian	feathers"	to	1.	Consider	the	curve	y	=	f(x)	=	2^x	-	1.	A.	Find	the	exact	area	of	the	region	in	the	first	quadrant	bounded	by	the	curves	y	=	f(x)	=	2^x	-	1	and	y	=	x.	("Exact	area"	means	no	calculator	numbers.)	B.	Find	the	inverse	function	y	=	f^-1	(x).	C.	Using	part	A	Give	two	examples	of	ways	that	physicists	model
the	physical	world.	I	was	wondering	if	this	would	be	an	effective	answer	for	"give	two	examples	of	ways	that	physicists	model	the	physical	world."	1.	Physicists	build	computer	simulations.	2.	They	build	Is	this	correct?	consider	determining	how	many	possible	phone	numbers	are	in	an	area	code	(repeated	numbers	allowed)	Is	this	a	combination,	a
permutation,	or	neither?	I	think	it	would	be	a	combination	wouldn't	it?	Since	there	are	ten	number	possibilities	There	are	3	short	questions	on	math	test.	for	each	question,	1	mark	will	be	awarded	for	a	correct	answer	and	no	mark	for	wrong	answer.	if	the	probability	that	mary	correctly	answers	a	question	in	a	test	is	2/3,	determine	the	probability	that
mary	correctly	Not	sure	how	to	draw	the	diagram	to	this,	or	quite	how	to	solve	b	and	c:	Several	math	students	are	taking	a	break	from	their	studies	by	visiting	a	playground.	One	student	pushes	the	others	on	a	merry-go-round.	The	diameter	of	the	merry-go-round	is	3.0	m,	13.	Solid	sodium	reacts	violently	with	water,	producing	heat,	hydrogen	gas,	and
sodium	hydroxide.	How	many	molecules	of	hydrogen	gas	are	formed	when	48.7	g	of	sodium	are	added	to	water?	2Na	+	2H2O	=	2NaOH	+	H2	So	far	I	have	this	much	figured	out:	Mass	to	1.	What	does	"Yo	necesito	la	carpeta	de	argollas"	mean	in	Spanish?	A.	You	need	a	calculator.	B.	I	need	the	three-ring	binder.	****	C.	You	need	to	take	science	class.
D.	I	need	a	dictionary	2.	What	country	was	Diego	Rivera	from?	A.	Cuba	B.	Puerto	Rico	C.	D'Andre	has	decided	that	he	needs	to	get	more	exercise,	so	he	is	building	a	running	regimen	for	himself.	He	decides	that,	beginning	on	Sunday,	he'll	fun	10	feet.	On	each	subsequent	day	he'll	double	the	distance	he	ran	the	previous	day.	So	he'll	run	20	feet	A
survey	was	taken	of	students	in	math	classes	to	find	out	how	many	hours	per	day	students	spend	on	social	media.	The	survey	results	for	the	first-,	second-,	and	third-period	classes	are	as	follows:	First	period:	2,	4,	3,	1,	0,	2,	1,	3,	1,	4,	9,	2,	4,	3,	0	Point	A	(4,	2)	is	translated	according	to	the	rule	(x,	y)	arrow	(x	+	1,	y	-	5)	and	then	reflected	across	the	y-
axis.	(3	points)	a)	In	which	quadrant	of	the	coordinate	plane	is	point	A	located?	b)	What	are	the	coordinates	of	translated	point	A'?	In	which	One	of	the	world's	fastest	roller	coasters	is	located	in	a	theme	park	in	Valencia,	California.	Riders	go	from	0	to	100	miles	per	hour	in	7	seconds.	Find	the	acceleration	of	the	roller	coaster	during	this	time	interval
in	miles	per	second	squared.	Math	-	Investigating	the	bugs	the	two	children	found	on	the	playground	and	finding	books	to	identify	them	instead	of	doing	your	scheduled	science	lesson	for	the	day	is	an	example	of:	integrated	learning	or	relevant	learning	Would	this	be	an	example	of	relevant	Identify	the	incorrectly	punctuated	sentence.	A.)	I	went	to
the	library	and	checked	out	two	books,	a	movie,	and	an	audio	recording.	B.)	I	promised	to	be	on	time	for	the	are	show	so	that	I	could	help	sign	up	the	participants.	C.)I	want	to	learn	more	about	I'm	having	trouble	with	the	following	problem:	Find	the	volume	of	the	solid	generated	by	revolving	the	region	about	the	given	line.	The	region	is	in	the	first
quadrant	bounded	above	by	the	line	y=	sqrt	2,	below	by	the	curve	y=secxtanx,	and	on	the	left	by	1.	Find	the	percent	of	change	when	the	price	of	a	radio	changes	from	$40.00	to	$44.00.	a.	12%	b.	10%	c.	36.4%	d.	40%	2.	Find	the	percent	of	change	when	the	price	of	an	oven	changes	from	$450	to	$396.	a.	15%	b.	14%	c.	13%	d.	12%	3.	The	top	player’s
Please	help!!!	Ray	and	Kelsey	have	summer	internships	at	an	engineering	firm.	As	part	of	their	internship,	they	get	to	assist	in	the	planning	of	a	brand	new	roller	coaster.	For	this	assignment,	you	help	Ray	and	Kelsey	as	they	tackle	the	math	behind	some	Hello!	I	have	two	math	questions:	1.)	Marcos	has	28	coins	that	are	all	nickels	(n)	and	dimes	(d).
The	value	of	the	coins	is	$2.05.	Which	system	of	equations	can	be	used	to	find	the	number	of	nickels	and	the	number	the	dimes?	A.	n	+	d	=	28	5n	+	10d	=	205	B.	A	rubber	ball	is	dropped	onto	a	ramp	that	is	tilted	at	20	degrees.	A	bounding	ball	obeys	the	"law	of	reflection,"	which	says	that	the	ball	leaves	the	surface	at	the	same	angle	it	approached	the
surface.	The	ball's	next	bounce	is	3.0	m	to	the	right	of	its	The	math	problem	is...........	3n	to	the	2nd	power	when	n=3	what	do	I	do	first	if	nothing	is	in	parenthesis?	Do	I	multiply	3n	or	do	n	to	the	2nd	power	first?	square	n,	then	multiply	it	by	three.	That's	a	good	question	Nikki.	We	would	read	(3n)^2	as	Carlos	spent	1\dfrac141	4	1	​	1,	start	fraction,	1,
divided	by,	4,	end	fraction	hours	doing	his	math	homework.	He	spent	1\dfrac141	4	1	​	1,	start	fraction,	1,	divided	by,	4,	end	fraction	as	much	time	practicing	piano.	How	many	hours	did	Carlos	spend	Simplify	the	sum.	State	any	restrictions	on	the	variables.	(3	points)	x-2/x+3	+	10x/x²-9	The	speed	of	the	current	in	a	river	is	6	mph.	A	ferry	operator	who
works	that	part	of	the	river	is	looking	to	buy	a	new	boat	for	his	business.	Every	day,	his	route	Erik	is	performing	a	marble	experiment	in	math	class.	His	teacher	places	an	equal	number	of	black,	red,	and	white	marbles	in	a	bag.	Then,	Erik	randomly	takes	out	a	marble,	records	the	result,	and	puts	the	marble	back	in	the	bag.	Each	of	the	first	four	1)	Mr.
customs	is	correcting	the	class's	math	homework	on	customary	units.	which	of	the	following	measurements	is	reasonable?	A.	a	pencil	is	12	feet	long	B.	the	back	porch	is	12	inches	wide	C.	the	3rd	hole	on	the	golf	court	is	123	miles	long	D.	the	Unit	2	Lesson	4,	Types	of	Triangles	Practice,	math	6B,	school	year	2021-2022	answers.	Only	use	this	to	check
your	work:	1.	Select	the	correct	classification	for	the	triangle	shown	below.	Answer:	isosceles	Explanation:	This	triangle	is	an	isosceles	triangle	If	the	function	f	has	a	continuous	derivative	on	[0,c],	the	the	integral(o	to	c)	of	f'(x)dx=	a)f(c)-f(0)	b)absolute	value	(f(c)-	f(0))	c)	f(c)	d)f'(x)=c	e)f"(c)-f"(0)	My	work:	so	the	the	answer	to	the	integral	is	f(x)	and
when	find	the	answer	from	o	t0	c,	1.	Which	of	the	following	choices	is	a	strategy	that	could	help	with	time	management?	A.	Spending	most	of	the	day	on	leisure	activities.	B.	Doing	homework	in	every	spare	moment.	C.	Cutting	back	on	sleep.	D.	Creating	a	list	of	tasks	to	be	completed	daily.*	A	bag	contains	2	white	marbles	and	7	purple	marbles.	Two
marbles	are	drawn	at	random.	One	marble	is	drawn	and	not	replaced.	Then	a	second	marble	is	drawn.	c)	What	is	the	probability	of	selecting	a	purple	marble	and	then	a	white	marble?	c)	What	is	the	Homework	6-3	(1)	Kareem	has	216	role-playing	game	cards.	His	goal	is	to	collect	all	15	sets	of	cards.	There	are	72	cards	in	a	set.	How	many	more	cards
dose	Kareem	need	to	reach	his	goal?	(2)	Nichole	has	$9	to	spend	on	cards.	She	finds	friends	with	the	same	Citydog	Screen	Printers	received	two	orders	for	a	t-shirt	designed	for	a	math	symposium.	The	first	order	was	for	40	shirts	at	a	total	cost	of	$295	and	the	second	order	was	for	an	additional	80	shirts	at	a	total	cost	of	$565.	Each	order	included	a
shipping	A	baseball	diamond	is	actually	a	square	with	each	side	approximately	27.4	m.	The	pitcher's	mound	is	18.4	m	from	home	plate	on	the	diagonal	of	the	square	-	note	that	the	pitcher's	mound	is	NOT	located	at	the	centre	of	the	diamond!	a)	How	far	(to	3	decimal	A	bag	holds	tiles	with	the	letters	A,	E,	I,	O,	and	U.	Which	list	of	letter	combinations	is
missing	from	the	table	that	shows	the	possible	outcomes	for	randomly	choosing	two	letters	out	of	the	bag	without	replacement?	AE	AI	AO	AU	EA	EI	EO	EU	IA	IE	IO	IU	OA	hi	please	check	these	math	answers!	13.	If	4	out	of	20	people	like	red	jelly	beans,	what	percent	of	the	people	do	not	like	red	jelly	beans?	A.5%	B.20%	C.80%(I	PICK	THIS)	D.90%	14.
Sally	is	photocopying	a	picture.	The	original	picture	was	4	inches	wide	and	Hello!	I	need	some	help	with	math!	I	have	tried	to	do	this	but	I	am	unsure	about	my	answers.	My	I	will	identify	my	answers	with	a	"	Hoping	Henry	can	help	on	previous	prob.	A	ball	is	thrown	upwards	from	a	roof	top,	80ft	above	the	ground.	It	will	reach	a	maximum	vertical
height	and	then	fall	back	to	the	ground.	The	height	of	the	ball	from	the	ground	at	time	T	is	H,	which	is	given	by	H=	If	500	J	of	work	are	required	to	carry	a	charged	particle	between	two	points	with	a	potential	difference	of	40V,	the	magnitude	of	the	charge	on	the	particle	is:	a)	0.040	C	b)	12.5	C	c)	20C	D)	cannot	be	computed	unless	the	path	is	give	e)
none	of	these	My	Vlad	spent	20	minutes	on	his	history	homework	and	then	completely	solved	x	math	problems	that	each	took	2	minutes	to	complete.	What	is	the	equation	that	can	be	used	to	find	the	value	of	y,	the	total	time	that	Vlad	spent	on	his	homework,	and	what	are	the	I	suggest	if	you	cannot	check	them	please	don't	comment.	Not	trying	to	be
rude	but	pretty	sure	most	u	know	what	I	mean.	I	am	not	here	for	answers	just	for	someone	to	check	my	work	6th	grade	math.	1.	-15	>	-21	A.	>	B.	<	C.	=	Which	number	is	greater	than	-24	.	Evaluate	the	expression.	2(y	+	2)	for	y	=	3	(1	point)	–4	8	10	2	2.	The	cost	in	dollars	of	a	field	trip	is	64	+	14n,	where	n	is	the	number	of	people	attending.	What	is
the	cost	for	48	people?	(1	point)	$736	$126	$896	$910	3.	Write	a	word	phrase	for	p	The	Pi	(π)	Club	at	Math	High	School	was	planning	a	fundraiser	to	sell	pepperoni	pizza.	A	pizza	company	donated	enough	ingredients	to	make	the	equivalent	of	300	extra	large	pepperoni	pizzas	(16”	diameter).	In	trying	to	determine	the	number	of	pizzas	of	A	glass
bottle	of	soda	is	sealed	with	a	screw	cap.	The	absolute	pressure	of	the	carbon	dioxide	inside	the	bottle	is	1.80	x10^5pa.	Assuming	that	the	top	and	bottom	surfaces	of	the	cap	each	have	an	area	of	.0004M^2,	obtain	the	magnitude	of	the	force	that	the	Are	these	correct	?.	My	grade	counts	on	this	and	I'm	not	the	best	at	math.	I.	Interest	is	____?.	(1pt)	a.
The	amount	of	money	your	bank	pays	you	for	the	use	of	only	your	money.	b.	The	amount	you	might	pay	for	a	loan.	*	c.	A	percentage	rate.	d.	All	of	the	I	am	not	here	for	answers	just	for	someone	to	check	my	work	6th	grade	math.	-15	>	-21	Which	number	is	greater	than	-24	A.	-42	B.	-27	C.-16***	D.	-32	Which	set	of	integers	is	ordered	from	least	to
greatest?	A.	-13,4,0,-8	B.	-5,-2,3,1	***	C.	-12,-8,-4,7	D.	PLEASE	CHECK	MY	ANSWERS!	1.	What	previous	work	experience	would	a	fire	inspector	be	expected	to	have?	A.	police	officer	B.	security	guard	C.	fire	fighter	D.	chemist	**	2.	Which	of	the	following	is	an	example	of	a	career	in	public	safety?	A.	attorney	B.	I	have	a	bar	graph	that	shows	the
number	of	students	by	major	in	the	College	of	Arts	and	Science.	Math	shows	200	students	History	shows	300	students	English	shows	400	students	Science	shows	150	students	Other	shows	175	students	What	percent	of	students	in	dividing	fractions....how	do	i	solve	this...	4/9	divided	by	2/3=	or	9/10	divided	by	9/10=	One	thing	I	do	remember	is	how	to
divide	fractions!	4/9	divided	by	2/3	=	4/9	multiplied	by	3/2	Then	once	you've	multiplied	across,	reduce	the	resulting	fraction	if	1.	Which	word	best	describes	the	action	in	the	picture.	A	saber	B	pedir	C	crear	D	enviar	2.	Which	sentence	best	describes	the	picture?	A	Toman	un	curso	B	Graban	un	disco	compacto	C	Tienen	mideo	D	Bajan	una	cancion	3.
Why	was	the	Kennedy	Space	Center	first	3.	Kara	needs	15	apples	to	make	2	pies.	She	made	this	table	to	show	how	many	apples	she	would	need	for	different	numbers	of	pies.	Number	of	apples-	15	,	30	,	45	,	60	Number	of	pies-	2	,	4	,	6	,	8	,	10,	12	At	this	rate	how	many	apples	will	Kara	need	to	make	Hi	there.	You	helped	me	with	a	couple	of	questions
regarding	Econ.	I	appreciate	the	help	but	my	issue	is	I	don't	understand	how	you	calculate	the	minimum	average	variable	cost	or	the	output	that	maximizes	profit.	I	do	understand	that	the	price	is	more	than	The	height	h	in	metres	above	the	ground	of	a	projectile	at	any	time	t	in	seconds	after	the	launch	is	defined	by	the	function	h(t)=-4t	+48t	+3	A.)
Complete	the	square	to	write	H	in	standard	form	b.)	Find	the	height	of	the	projectile	three	seconds	after	the	Posted	by	sam	on	Wednesday,	March	28,	2007	at	7:32pm.	In	unit-vector	notation,	what	is	the	net	torque	about	the	origin	on	a	flea	located	at	coordinates	(-2.0,	4.0	m,	-1.0	m)	when	forces	F1	=	(-4.0	N)	k	and	F2	=	(-5.0	N)	j	act	on	the	flea?	I
helped	my	mother	wash	the	dishes.	I	helped	my	mother	clean	the	house.	I	helped	my	mother	ironing	some	clothes.	I	vacuumed	the	floor.	I	cleaned	the	floor	with	a	mop.	I	cleaned	the	study	which	was	messy.	I	cleaned	the	veranda	where	there	were	a	lot	of	A	math	class	contains	7	females	(three	of	whom	speak	French	and	the	rest	speak	only
English),and	12	males	(two	of	whom	speak	French	and	the	rest	speak	only	English).	a)	A	student	in	the	class	is	chosen	at	random.	If	you're	told	the	student	is	female,	what	what	is	the	probability	that	at	least	2	students	in	a	class	of	36	have	the	same	birthday?	Do	i	punch	this	in	to	the	calculator	or	how	did	you	found	this	way	or	method	for	your
solution:	Log(365!)	=	1792.3316	Log(329!)	=	1581.7202	36	Log(365)	=	212.3963	And	I	owe	my	success	to	having	listened	respectfully	to	the	very	best	advice,	and	then	going	away	and	doing	the	exact	opposite.	--G.	K.	Chesterton	(1874	-	1936)	Assignment:	Are	people	held	back	by	their	adherence	to	the	beliefs	of	the	majority	or	doing	things	I	looked
for	this	everywhere,	so	now	you're	going	to	get	it.	1)	Suppose	Ruth	Ann	has	3	routes	she	can	travel	from	the	school	to	the	library	and	5	routes	from	the	library	to	her	home.	How	many	routes	are	there	from	Ruth	Ann's	school	to	her	home	with	a	stop	Please	check	my	answers	and	correct	me	if	I'm	wrong	1.	Identify	the	sentence	in	which	the	underlined
verb	DOES	NOT	agree	with	its	subject.	A.	The	trophies	(are)	ready	to	be	awarded.	B.	There	(is)	no	reason	why	he	cannot	play.	C.	Most	of	these	math	There	are	12	boys	and	18	girls	in	a	math	class.	What	is	the	ratio	of	boys	to	total	students?	(6.RP.1)	*	1	point	12:30	12:18	18:12	30:18	There	are	23	students	in	a	sixth-grade	class.	Nine	students	play
hockey.	What	is	the	ratio	of	students	who	do	not	play	My	answers	are	***	The	word	that	are	supposed	to	be	in	italics	are	in	all	capitals.	1.	Choose	the	answer	that	best	matches	the	word	in	italics.	When	London	speaks	of	Buck	METAMORPHISING,	he	means	that	Buck	lost	his	appetite.	changed	into	a	different	kind	I	have	a	practice	math	test	and	I	am
stuck	on	a	few.	Please	help	:-)	1)	Write	the	number	of	permutations	in	factored	form.	Then	simplify.	How	many	different	ways	can	you	and	four	of	your	friends	sit	in	the	back	of	a	limousine?	A)	4!;	24	B)	4!;	120	C)	5!;	1.	2(y	+	1)	for	y	=	2	(1	point)	6	5	7	8	2.	start	fraction	lower	d	plus	lower	g	over	lower	h	end	fraction	for	d	=	29,	g	=	16,	and	h	=	9	(1
point)	8	2.375	5.375	5	3.	The	cost	in	dollars	of	a	school	banquet	is	74	+	12n,	where	n	is	the	number	of	people	Zero,	a	hypothetical	planet,	has	a	mass	of	1.0x10^23	kg,	a	radius	of	3.0x10^6	m,	and	no	atmosphere.	A	10	kg	space	probe	is	to	be	launched	vertically	from	its	surface.	(a)	If	the	probe	is	launched	with	an	initial	kinetic	energy	of	5.0x10^7	J,
what	will	be	I	really	need	help	asap	with	my	subjective	letter	for	my	NJHS	Application.	Please	answer	fast-	it	is	due	tomorrow!!	---	To	the	National	Juniors	Honor	Society:	I	express	my	gratitude	for	selecting	me,	Sandra	Garcia,	as	a	possible	member	of	the	National	During	which	time	period	were	artists	keenly	interested	in	using	the	golden	ratio	in	their
paintings?	A.Baroque	Period	B.Oriental	Period	C.Futuristic	Period	D.Renaissance	Period	When	the	Greeks	built	the	Parthenon	its	dimensions	nearly	matched	the	golden	The	High	School	Step	Team	Karla’s	cousin	Jade	urged	her	to	join	the	step	team.	“This	afternoon	you	should	definitely	try	out!”	Jade	suggested	after	the	final	bell	rang.	“I	know	she
wants	the	best	for	me,”	Karla	thought	to	herself,	“but	I’m	3.	ONLY	ONE	of	these	statements	about	multiplying	decimals	is	true.	Please	click	on	the	correct	statement:	*	4	points	When	multiplying	decimals,	do	not	align	the	decimal	points.	Multiply	the	decimals	as	you	would	multiply	whole	numbers.	Then	count	the	Anyone	please	help	me!	Directions:
Follow	the	instructions	below	to	design	a	fair	race	for	the	new	video	game	Animal	Tracks.	1.	Choose	two	animals	with	different	speeds.	You	can	choose	from	the	chart	that	starts	at	the	bottom	of	this	page	or	do	research	to	10.	a	rectangle	has	width	the	same	as	a	side	of	a	square	whose	perimeter	is	20m.	the	length	of	the	rectangle	is	9m.	find	the
perimeter	of	this	rectangle.	34.	The	width	of	a	rectangular	picture	is	one-half	the	length.	The	perimeter	of	the	rectangle	is	72	1.	Which	of	the	following	inequality	signs	would	make	a	true	statement	if	it	replaced	the	question	mark	in	the	following	equation?	3−	5?−	3	A.	<	C.	≤	B.	>	D.	=	2.	Solve	the	inequality	−4y	+	6	2	C.	y	≤	5	B.	y	<	5	D.	y	>	5	4.	At	a
baseball	game,	1.How	did	the	capture	of	Vicksburg,	Mississippi,	take	advantage	of	a	Confederate	weakness?	A-The	Confederacy	had	few	soldiers	and	relied	on	its	well-trained	generals	to	win	battles.	B-	The	Confederacy	had	few	weapons	manufacturers	and	relied	on	Vicksburg	1.	Choose	the	most	logical	answer	for	this	question:	¿Dónde	está	el
teclado?	(1	point)	El	teclado	está	en	el	ratón.	El	teclado	está	debajo	del	ratón.	El	teclado	está	al	lado	del	ratón.	El	teclado	está	encima	del	ratón.	2.	Choose	the	most	logical	I'm	doing	a	project	concerning	space	travel	to	Mars,	and	I	need	some	help	with	calculations.	This	is	the	description	of	the	assignment:	After	completing	Assignment	1	we	realized
that	our	small	spacecraft	needs	to	travel	at	over	7	km/s	to	keep	orbiting	Repost	for	im	stupid	-	organizational	math	What	is	the	most	important	reason	to	create	a	backup	of	your	files	somewhere	other	than	our	computer?	A.	To	access	them	on	another	device	B.	because	your	computer	may	be	damaged	and	you	risk	not	being	able	to	PLEASE	CHECK
MY	MATH	ANSWERS	PLEASE	AND	LABEL	THEM	LIKE	1.WRONG	AND	STUFF	THANKS	!	1.There	are	5	red	crayons,	6	yellow	crayons,	and	11	blue	crayons	in	a	shoebox.	What	is	the	ratio	of	the	total	number	of	crayons	to	the	number	of	yellow	crayons?	A.6:22	What	is	the	purpose	of	an	introduction?	(1	Point)	A	to	summarize	the	ideas	in	a	text***	B	to
provide	evidence	that	supports	the	central	argument	of	a	text	C	to	tell	a	story	related	to	the	main	topic	of	a	text	D	to	state	the	goals	and	purpose	of	the	text	225	mg	sample	of	diprotic	acid	is	dissolved	in	enough	water	to	make	250mL	solution.the	pH	of	this	solution	is	2.06.	a	saturated	solution	of	calcium	hydroxide	Ksp=1.6E-6	Then	the	saturated
solution	of	calcium	hydroxide	is	prepared	by	adding	excess	calcium	Please	help	me	check	my	answers.	1.What	is	the	purpose	of	an	introduction?(1	point)	a.to	tell	a	story	related	to	the	main	topic	of	a	text	b.to	state	the	goals	and	purpose	of	the	text	c.to	summarize	the	ideas	in	a	text	d.to	provide	evidence	that	supports	Now	write	a	program	that
calculates	the	minimum	fixed	monthly	payment	needed	in	order	pay	off	a	credit	card	balance	within	12	months.	By	a	fixed	monthly	payment,	we	mean	a	single	number	which	does	not	change	each	month,	but	instead	is	a	constant	amount	1)More	than	450	students	went	on	a	field	trip.	Ten	buses	were	filled	and	5	more	students	traveled	in	a	car.	a)
Write	an	inequality	to	represent	the	situation.	Be	sure	to	define	your	variable.	b)	Solve	the	inequality	to	find	the	minimum	number	of	people	on	Read	the	passage	from	“The	Downside	of	No	Downtime	for	Kids.”	Is	a	summer	packed	with	science	and	sports	camps,	reading	assignments	and	math	practice	the	only	responsible	choice?	Have	you	failed	if
your	fifth	grader	isn’t	learning	to	code	or	build	Hey	yall	who	see	this	i	need	some	help	on	my	math	homework	so	can	someone	please	help	a	girl	out	here	i	am	in	7th	grade	yall	i	need	to	know	what	these	are	using	p=irt	Deb	borrows	$3190	at	2.9%	simple	interest	per	month.	When	Deb	pays	the	loan	back	5	years	Help	needed	with	a	calorimeter	lab.	I
have	to	measure	the	enthalpy	of	a	neutralization	reaction	between	NaOH	and	HCl	as	well	as	find	the	concentration	of	NaOH	the	following	ways.	-	using	the	mass	and	volume	of	NaOH	-	Using	calorimetric	data	assuming	no	Arrange	the	fractions	in	order	from	smallest	to	largest.	,	,	,	5/8,3/4,9/16,7/8	Add.	Write	the	answer	in	lowest	terms.	3	2/7	+	5	3/7
Subtract.	Write	the	answer	in	lowest	terms.	6	4/5	-	2	1/5	Evaluate.	Write	the	answer	in	lowest	terms.	8/15-4/15+1/15	Add.	Which	ones	are	wrong?	Part	I:	True	or	False	1.	The	following	word	group	is	a	FRAGMENT:	That	movie,	one	of	my	favorites.	_x_True	__False	2.	The	following	word	group	is	a	FRAGMENT:	The	local	baseball	team,	needing	a	good
pitcher	most	of	all.	_x_True	__False	Page	6	Essay:	How	I	surprised	my	friend	on	her	birthday	part.	A	birthday	party	is	the	one	day	a	year,	which	is	very	special	and	unique	to	everyone	in	their	life.	It	is	a	day	that	should	be	celebrated	with	lots	of	joys	and	some	surprises.	Basically,	I	thought	I	1.	The	table	shows	the	results	of	spinning	a	four-colored
spinner	50	times.	Find	the	experimental	probability	and	express	it	as	a	decimal.	P(not	red)	=	?	red	|	blue	|	green	|	yellow	-----------------------------------------	20	|	10	|	9	|	11	(1	point)	a	0.6	Mr.	Green,	the	Herbarium's	owner,	has	come	to	you	with	another	problem	to	solve.	He	wants	to	create	a	new	sales	display	featuring	giant	potted	plants	and	plants	in	smaller
hanging	baskets.	He	wants	to	set	up	the	display	in	such	a	way	that	he	can	maximize	Second	Grade	Classroom	Scenario	As	Miss	Gibson’s	second	graders	break	out	into	their	learning	centers,	a	scuffle	starts	in	the	writing	center.	Two	boys	are	shoving	and	pushing	each	other.	Miss	Gibson	stops	the	class	and	yells,	“Boys	stop!”	Instead	of	1.	Which	of	the
following	is	a	specific	word	as	opposed	to	a	general	word?	A.	Job	B.	Occupation	C.	Physician***	D.	Profession	2.	Choose	the	topic	that	best	limits	the	broad	subject	music.	A.	Famous	pianist	B.	Modern	rap	music	C.	History	of	the	harmonica	D.	1.	Which	of	the	following	is	a	specific	word	as	opposed	to	a	general	word?	A.	Job	B.	Occupation	C.	Physician***
D.	Profession	2.	Choose	the	topic	that	best	limits	the	broad	subject	music.	A.	Famous	pianist	B.	Modern	rap	music	C.	History	of	the	harmonica	D.	Which	of	the	following	events	is	caused	by	magnetic	force?	A)	A	person	gets	a	shock	from	a	doorknob	after	walking	across	carpet.	B)	Pieces	of	clothing	stick	together	after	being	in	a	clothes	dryer.	C)	The
needle	of	a	compass	points	toward	Earth's	North	Write	a	program	to	calculate	the	credit	card	balance	after	one	year	if	a	person	only	pays	the	minimum	monthly	payment	required	by	the	credit	card	company	each	month.	The	following	variables	contain	values	as	described	below:	balance	-	the	outstanding	I	really	don't	know	how	to	begin	to	approach
this	problem.	A	6-year-old	patient	underwent	an	outpatient	tonsillectomy	and	adenoidectomy	The	surgeon	ordered	1,000	cc	D5W,	dispensed	at	a	rate	of	600	cc	every	8	hours,	to	maintain	hydration	levels.	A	Hypothesis:	A	prediction	of	what	you	think	the	results	of	the	project	will	be.	Write	your	hypothesis	before	you	begin	the	experiment	and,	if	the
experiment	has	more	than	one	part,	you	will	need	a	hypothesis	for	each	section.	Remember	to	create	an	A	farmer	was	taking	her	eggs	but	they	all	fell	on	the	floor.	She	didn't	know	how	many	eggs	she	had.	But	then	she	remembers	when	she	put	them	in	groups	of	two,	there	was	one	egg	left	over.	When	she	put	them	in	groups	of	three,	there	was	also
one	egg	left	(I	know	it	looks	like	a	lot	but	it's	just	10	questions)	(part	1	[It	also	explains	my	situation]:	jiskha.com/questions/1788952/Hi-I-missed-school-due-to-illness-and-my-school-isnt-very-forgiving-so-I-would)	(If	your	willing	to	do	this	part	along	with	part	1.	A	significant	character	who	is	often	the	star	of	the	story,	more	developed	than	the	others	A	-
Stock	Character	B	-	Antagonist	C	-	Round	Character	D	-	Flat	Character	2.	Select	the	example	of	a	Terza	Rima	Rhyme	Scheme	A	-	ABAB	CCDD	B	-	AABB	C	-	AAAA	D	-	1.	Suppose	you	spin	the	spinner	once.	Find	the	probability.	R,	R,	R,	R,	B,	B,	G,	Y	P(yellow)	A.	1/8***	B.	1/6	C.	1/4	D.	1/2	2.	Suppose	you	spin	the	spinner	once.	Find	the	probability.	R,	R,	R,
R,	B,	B,	G,	Y	P(red	or	blue)	A.	0	B.	1/4	C.	1/2	D.	3/4***	3.	I	cannot	solve	this	pattern!	1,1,4,3,9,6,16,10,25,15	HINT:	two	different	patterns	are	intertwined	BIGGER	HINT:	only	look	at	every	other	number	This	is	a	conjured	up	sequence	not	identifiable	by	any	recursion	formula.	The	first	sequnece	is	1	4	9	16	25	36	In	the	first	paragraph,	underline	all
common	nouns	once	and	proper	nouns	twice.	In	the	second	paragraph,	underline	two	pronouns.	In	the	third	paragraph,	underline	one	action	verb	once,	underline	a	helping	verb	twice,	and	circle	a	linking	verb.	In	the	Suppose	that	you	are	given	the	following	system	of	linear	equations	[variables	are	x1,	x2,	x3	and	x4]	x1	+	3x2	+	9x3	+	2x4	=5	x1	+	3x3
-	4x4	=5	x2	+	2x3	+	3x4	=-1	-2x1	+	3x2	+	5x4	=-1	Let	b	be	the	vector	such	that	B	=	[A	b]	,	and	let	a1,	a2,	a3	and	a4	be	1.	The	frequency	table	below	shows	the	ages	of	30	children	who	participate	in	soccer	league	How	many	are	12	years	or	older?	Ages.	Frequency	3-5.	7	6-8.	8	9-11.	10	12-14.	3	15-17.	2	A.	3	B.	5	C.	6	D.	25	2.	Researchers	at	Jacson
Hospital	asked	40	randomly	If	I	join	these	clubs	in	high	school	will	I	make	it	to	Ivy	League	Schools	Computer	Club	Any	student	interested	in	computers	will	learn	skills	such	as	creating	web	designs	and	building	PCs.	Students	will	also	have	the	opportunity	to	learn	advanced	1.write	the	fraction	5/6	as	a	percent.	Round	to	the	nearest	hundredth	of	a
percent	where	necessary.	33.33%	66.67%	83.33%	1.20%	2.	Chris	and	five	of	his	friends	go	out	to	dinner.	The	total	bill	comes	to	$124.29.	they	decide	to	leave	a	20%	tip.	Each	person	Pls	check	my	answers	for	the	math	test:	1.	Find	the	area	of	a	parallelogram	with	base	b	and	height	h.	b	=	87	cm	h	=	18.6	cm	(1	point)	105.6	cm2*	211.2	cm2	809.1	cm2
1,618.2	cm2	2.	Find	the	area	of	the	triangle.	A	triangle	has	a	base	of	21	yards	and	a	Use	the	paragraph	to	answer	the	question.	The	poor	horse	was	very	melancholy,	and	wandered	up	and	down	in	the	wood,	seeking	some	little	shelter	from	the	cold	wind	and	rain.	Presently	a	fox	met	him:	"What’s	the	matter,	my	friend?"	said	he.	"Why	do	you	1.	Which
of	the	following	infectious	diseases	accounts	for	60	to	80	percent	of	all	school	absenteeism?	A.	Upper-respiratory	infections	B.	Pinkeye	C.	Tuberculosis	D.	Hepatitis	A	and	B	2.	Which	of	the	following	statements	about	playground	monitors	is	Fame	can	come	to	a	person	in	many	different	ways.	Most	people	think	of	fame	coming	to	athletes	or
entertainers,	but	there	are	other	ways	to	become	famous.	Following	are	a	few	examples	of	immigrants	to	the	United	States	who	have	become	famous	in	their	own	Question	1(Multiple	Choice	Worth	5	points)	[08.06	MC]	How	did	the	election	of	Ulysses	S.	Grant	affect	the	voting	rights	of	African	Americans?	Grant	received	fewer	votes	in	the	North,	so
the	Civil	Rights	Act	of	1866	was	enacted	to	protect	African	American	1.	The	experimental	rats	were	being	raised	in	separate	environments.	One	group	lived	in	the	traditional	cage	in	a	quiet,	but	well	lighted	room.	They	were	supplied	with	plenty	of	food	and	water.	The	second	group	inhabited	"Rat	Disney	Land."	There	were	Please	help	Thank	you.
Match	the	word	with	the	correct	definition.	Use	the	word	box	below	A.Ethnicists	B.Irrevocable	C.Quintessential	D.Enlightened	E.Dissuade	F.Insidious	1.Characteristic;typical	2.Harmful	in	a	way	that	may	be	hard	to	detect.	3.Those	in	Basically	what	color	is	yellow	when	they	say	"Yellow"?	The	titrations	I	have	done	are	light	yellow	when	approaching
the	end	point	but	whatever	color	you	see	is	what	you	get,	I	suppose.	So	titrate	to	a	very	light	color.	Would	the	extra	5ml	of	starch	1.	The	average	height	of	members	of	the	high	school	basketball	team	is	six	feet,	three	inches.	Jerry	is	on	the	high	school	basketball	team,	so	Jerry	must	be	taller	than	six	feet.	The	argument	above	is	flawed	because	it
confuses	(Points	:	1)	Jerry	with	1.	Question	:	Since	Jessica’s	participation	in	local	politics	increased	significantly	after	she	joined	her	school’s	political	science	club,	it	is	clear	that	her	involvement	in	that	club	led	her	to	take	an	interest	in	politics.	The	argument	above	is	English	9	Exam	1.	A	narrator	who	is	also	a	character	in	the	story	is	(1	point)	•	first
person.	•	second	person.	•	third	person	limited.	•	third	person	omniscient.	2.	"I	like	to	think	(right	now,	please!)	of	a	cybernetic	forest	filled	with	pines	and	

2021/09/01	·	“That’s	not	an	answer.”	“Well	it’s	what	you’re	getting.	Excuse	me…”	–	The	“not	an	answer”	Chandler	Gaffe,	local	press	recording,	9/15/1955	“I	did	not	know	he	could	muddy	up	answering	the	press	so	badly.	If	Chandler	went	to	rob	a	bank	he’d	hold	onto	his	money	sack	and	toss	the	teller	his	gun.”	2021/09/01	·	“That’s	not	an	answer.”
“Well	it’s	what	you’re	getting.	Excuse	me…”	–	The	“not	an	answer”	Chandler	Gaffe,	local	press	recording,	9/15/1955	“I	did	not	know	he	could	muddy	up	answering	the	press	so	badly.	If	Chandler	went	to	rob	a	bank	he’d	hold	onto	his	money	sack	and	toss	the	teller	his	gun.”
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